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Question Number : 1 Question Id : 7532295262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the words share the same relationship as that shared by the given pair of words.

Chair : Table

Options :

1. # Pencil : Ink

2. % Hammer : Farmer
3. % Cup : Saucer

4. # Mobile : Keyboard

Question Number : 1 Question Id : 7532295262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fadhey &1 799 &, o T wsdl & o9 9t Taie g, ot faU 7Y Xrea-g & Vgl & AT B
?\‘:ﬁ:'ﬁl\_ﬂ

Options :

1. % URYQ  Tgl
2. % gUIST: fraH
3. ¢ &Y : IR

[aWlnN

4. % OGS : Blars

Question Number : 2 Question Id : 7532295263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of the ages of a father and his son is 62. Five years ago, the father was thrice as old as his son was then. The father's present age is:
Options :

1. % 54

2.9 44

3. % 52

4, % 48

Question Number : 2 Question Id : 7532295263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fOaT 3R STb T Bt 31 BT 41T 62 a9 ¢ | U oY U, et 1 omg O 1 g 1 <= Tt oft | e ot o emg s 82
Options :

1. % 54

2.9 44

3. % 52

4, % 48

Question Number : 3 Question Id : 7532295264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Mahesh was facing towards the North. He turned right and went 48 km. Then he turned left and went 65 km. Then he turned left and went 85 km.
Finally, he turned right and went 15 km. In which direction is he facing now?

Options :

1. #* West

2. ¥ North

3. # East

4. % North-East

Question Number : 3 Question Id : 7532295264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR IR AR BT 3R TR 7| 98 TRt 3R YT 3R 48 foredt = | v g o1mg gt 31R 65 foseft =rarm| fOhr, a8 a1 ga1 8iR 85 et 7a
3id ¥, 98 a4 g1 3R 15 fooet 7an| oid 98 fhy fGxn &1 ofRk Iwg@ g2

Options :
1. % Uiy
2. % 3
3. % 79

4. % IW-7d

Question Number : 4 Question Id : 7532295265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words is different from the rest in a certain manner?
Options :

1. # Copper

2. % Cotton

3. % Aluminium

4. * Iron

Question Number : 4 Question Id : 7532295265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFraffed # @ $1H-91 Weg, 3 Y] J T iy i A e g
Options :

1. ® diam

2. ¥ HUNH

3. % egHi-ay

4. % @l

Question Number : 5 Question Id : 7532295266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set in which the numbers are related in the same way as the numbers of the following set.

(2,30, 8)
Options :
1. % (3,15,5)
2. % (4,32,9)
3. % (5,55,22)
4. (2,15,3)

Question Number : 5 Question Id : 7532295266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T 1 9 Hx, ford H < 712 Tensii & weg a8t dae €, off fau U 9= & € T Sesii & A g

(2,30,8)
Options :

1. % (3,15,5)
2. % (4,32,9)
3. % (5,55,22)
4. (2,15,3)




Question Number : 6 Question Id : 7532295267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set in which the numbers are related in the same way as the numbers of the following set.

(8,6,4)
Options :

1. ¥ (2,4, 6)
2. % (12,10, 6)
3. % (4,3,06)
4. % (10,5,2)

Question Number : 6 Question Id : 7532295267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T &1 I $x, fore § &1 773 Tensii & Aeg a8t Aae g, off U U 9= & € 75 Sesh & A g

8,6,4)
Options :

1.¥ (2,4,6)
2. % (12,10, 6)
3. % (4,3,06)
4. % (10,5,2)

Question Number : 7 Question Id : 7532295268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “+> means ‘x’°, ‘-’ means ‘+’, ‘<’ means ‘+’, and ‘~’ means ‘—’, then 22 —3 +22 x 2 + 1 is equal to:

Options :

1.¥ 14

2. % 34

3.% 12



4. % 22

Question Number : 7 Question Id : 7532295268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MG+ BIHM x° 8, = BIHM ~+ 8, *x* BIHM *+* 8, 3R =+ BIHM = 8, W 22— 3+ 22 x2 + 1 B HH 1 bR |
Options :

1. 14

2. % 34

3.% 12

4, % 22

Question Number : 8 Question Id : 7532295269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If ‘@’ means ‘+’, ‘%’ means ‘+’, ‘#’ means
equation?

C_’ L"
5 .

means ‘=", and ‘&’ means ‘x’, then which number will replace the *?’ symbol in the given

24% 12 @ 8#4 &4 7?7
Options :

l.* 6

2. % 4

3. -6

4. % -10

Question Number : 8 Question Id : 7532295269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e ‘@ BIHM + §, % BIHM = 8, % PTHAM 8, I PTHA =" &, 3R ‘& BT HM x* g, M DIH-H1 T, ey ¢ gefiepzo 7 2 it
S8 IR ST .

24% 12 @ 8#4&4!7?
Options :



A
S
&

Question Number : 9 Question Id : 7532295270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option will sequentially replace the question marks (?) in the following? .

(0,1,4,9) (7,64, 7,100) (3, ?, 25, 36)
Options :

1. ® 80,32

2.¥ 81,16

3. % 76,16

4. % 82,27

Question Number : 9 Question Id : 7532295270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HH-1 fadhen Hie U 99 1 usaras {5 (2) 31 ufawfid s

(0,1,4,9) (7,64, ?,100) (3, ?, 25, 36)
Options :

1. # 80,32

2.¥ 81,16

3. % 76,16

4. % 82,27

Question Number : 10 Question Id : 7532295271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number will replace the question mark (?) in the following?



(33,6,60)(43,7,70)(?,7,70)
Options :
1.9 52
2. % 54
3.% 42
4. % 33

Question Number : 10 Question Id : 7532295271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A1 IRt & Uears g (2) % WM RS- Ter smuf

(33,6,60) (43,7,70) (?,7,70)
Options :
1.¥ 52
2. % 54
3.% 42
4. % 33

Question Number : 11 Question Id : 7532295272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third number in the same way as the second number is related to the first number?

2314 : 6446 :: 1231 :
Options :
1. ®% 5125
2. % 1255
3.9 2552
4. % 1525

Question Number : 11 Question Id : 7532295272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fadhen &1 97 &, foraes! Js) T O a8 e €, S gur e &1 Uge! I 9 g |

2314 : 6446 :: 1231 :
Options :
1. % 5125
2. % 1255
3.9 2552
4. % 1525

Question Number : 12 Question Id : 7532295273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third number in the same way as the second number is related to the first number.

576 : 384 :: 765 :
Options :

1. # 610

2.9 510
3. % 437
4. % 473

Question Number : 12 Question Id : 7532295273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 ooy &1 999 Y, ST ) S 9 31 33! TSR Fafdd 7, ford TR gant TRedm uget e ¥ Hefid |

576 :384 :: 765 :
Options :
1. ® 610
2.9 510
3. % 437




4. % 473

Question Number : 13 Question Id : 7532295274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A seller sells his book at a 25% higher rate than its cost price. If he earns a profit of I3 on each book, what is the selling price of that book?
Options :

1. ¥ %15

2. % 235
3. % %45
4. % 355

Question Number : 13 Question Id : 7532295274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fachdl 30t T B 3% 0 ol T 25% Hdl & R o9dT ¢ | Ife, I8 T J&Id W I3 BT ATY 3ifoid Bl 7, Al 39 T Bl
fassd ge fard=T g

Options :

1.¥ %15

2. % 335
3. % 45
4. % 355

Question Number : 14 Question Id : 7532295275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rahul and Ravi are playing on the temple’s staircases. They climb 30 stairs and go back 15 stairs in one round. If the total number of stairs to
reach the temple is 120, then in which round will they reach the temple?

Options :
l.% 5
2.9 7
3. 90



4. % 10

Question Number : 14 Question Id : 7532295275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3R Y TR 31 Ffedt R VAR &1 3 TH IR [I98) H 30 Wifeai ggd § o 15 Wfgar Iava &1 afe HieR 9% ugan & forg wfear
&1 Ho G=AT 120 B, A1 3 fha-1 IR A3 S) H HfeR T uga s

Options :

1.*% 5

7

9

10

- g'c;\

2
3.
4

Question Number : 15 Question Id : 7532295276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'SUGAR' is coded as '64' and 'FAITH' is coded as '86', then how will 'ADJUST' be coded as?
Options :

1. % 85

81

88

87

" g.Q\

2
3.
4

Question Number : 15 Question Id : 7532295276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife ‘SUGAR’ &Y 64’ & ¥U H DI fhdl TR B, 3R ‘FAITH’ &l ‘86’ & =0 § BIS fHar a1 8, @t ‘ADJUST’ &) g U § P fosan
SfTEIT?

Options :

1. % 85

2.9 81

3. % 88



4, % 87

Question Number : 16 Question Id : 7532295277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select a suitable figure from the four alternatives that will replace the question mark in the figure matrix.

N\
/
]

i
&3
=2

[

||==
-:':-.JI
=

A | <
Options :

Question Number : 16 Question Id : 7532295277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options
1. # *
2. % “L
ot
sv K

Question Number : 17 Question Id : 7532295278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many squares are there in the given figure?

Options :

1.% 5

Question Number : 17 Question Id : 7532295278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

al 115 2T fdl H febe ot &2

Options :

1. % 5



Question Number : 18 Question Id : 7532295279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the maximum number of triangles formed in the figure given below?

Options :
1. % 4

3« 12

4 % 14

Question Number : 18 Question Id : 7532295279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

<1 efipfa | P fobd A BrysT g2

Options :
1 ® 4

3.¢ 12
4 % 14

Question Number : 19 Question Id : 7532295280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three different positions of the same dice are shown. Select the pattern that will be on the face opposite to the face
showing.

= i ®
DY DD | @

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1 A

2. ®

; ®

&

Question Number : 19 Question Id : 7532295280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U U &1 i g uRfRufoal of exifar mar g1 39 Ued &1 994 &3, o USRI gH a1d Bad & [99iid
s TR g

- g ®
QY D |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

P2

2. ®

;. ®

RS

Question Number : 20 Question Id : 7532295281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many numbers of squares are in given figure?

Options :
1.¥ 6

4 % 10

Question Number : 20 Question Id : 7532295281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 7Ty, 3Miepid H faba vl (fgd g2




Options :
1.# 6

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

General Awareness

2
753229276
0

0

No

No

0

20

No

General Awareness

753229276
1

Online
Mandatory
20

20

20

Yes



Sub-Section Number : 1
Sub-Section Id : 753229333
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532295282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of soil covers most of the Deccan Plateau?
Options :

1. ¥ Black soils

2. % Alluvial soils

3. % Red and yellow soils

4. % Laterite soils

Question Number : 21 Question Id : 7532295282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GdH & USR | fohd TR 1 Fig! qaifies urg il g2
Options :

1. ¢ DTl flet

2. % Sairg fiel

3. % @1 3R dieft firgh

4. % qevrge gt

Question Number : 22 Question Id : 7532295283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following canal systems is not in Haryana?
Options :

1. # Bhakra Canal

2. ¥ Betwa Canal

3. % Gurgaon Canal



4. ¥ Western Yamuna Canal

Question Number : 22 Question Id : 7532295283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad # @ &I I e yumrel gharn # 18 82
Options :

1. % HIEST [gr

2. ¢ §qdl T8

3. % T[S TR

4. % U I T8

Question Number : 23 Question Id : 7532295284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of settlements are generally found in the northeastern states of India?
Options :

1. ® Fragmented Settlements

2. ¥ Clustered Settlements

3. # Hamleted Settlements

4. ® Isolated Settlements

Question Number : 23 Question Id : 7532295284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & ITRYAT 501 H SMHAR R 69 SR &1 Sfqdr grs il 82
Options :

1. % JuEfsd ikl (Fragmented Settlements)

2. ¢ Ugd dddl (Clustered Settlements)

3. % Uooll 9fRKdT (Hamleted Settlements)

4. % UpTe! ST (Isolated Settlements)




Question Number : 24 Question Id
Orientation : Vertical

: 7532295285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is also known as Regur soil?

Options :

1. # Alluvial soils

2. % Red and Yellow soils
3. ¥ Black soils

4. % Saline soils

Question Number : 24 Question Id
Orientation : Vertical

: 7532295285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & IO, Wrs ga1 ot searndt g2

Options :

1. % Sclig gal

2. % AT AR Uielt gar
3. ¢ Idl gar

4. % quitg gar

Question Number : 25 Question Id
Orientation : Vertical

: 7532295286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following crops are Zaid crops?

Options :

1. # Rice and Maize
2. # Wheat and Barley
3. % Cotton and Jute

4. ¥ Watermelon and Cucumber

Question Number : 25 Question Id

: 7532295286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafiad 7 9 oF O wad, ST 3t Bad gldl 82
Options :

1. % T 3R HIPT

2. % T 3RSl

3. % HUN 3R e

4. TGS 3R GRT

Question Number : 26 Question Id : 7532295287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among these is the first Home Minister of independent India?
Options :

1. ¥ Sardar Vallabhbhai Patel

2. % Rajkumari Amrit Kaur

3. ¥ Maulana Abdul Kalam Azad

4. ¥ Deen Dayal Upadhyay

Question Number : 26 Question Id : 7532295287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & §, Tadd YR & Ugd T8 T & &2
Options :

1. ¢ TER TEAHHTS Ucd

2. % JISHHART 3Hd HR

3. % AT 3egd HAH 3OTG

4. % &9 U1 IUTATI

Question Number : 27 Question Id : 7532295288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which year was ‘The National Human Rights Commission of India’ established?
Options :

1. # 1995

2.% 1993

3. % 1998

4. % 1991

Question Number : 27 Question Id : 7532295288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“HRd T AP AMANIBR AN oo oy Ryttt fobam mam ur
Options :

1. #® 1995

2. %1993

3. % 1998

4. % 1991

Question Number : 28 Question Id : 7532295289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Triswari, Chatuhswari, and Panchaswari forms of music are related to which of the following states?
Options :

1. ¥ Odisha

2. * Chhattisgarh

3. * Bihar

4. * Gujrat

Question Number : 28 Question Id : 7532295289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Py, IgeRt ok daydt St el Fafeiad § 2 feg g 3 deifdd &



Options :

1. ¢ 3t
2. % FRTG
3. % f9gR

4. % ToRId

Question Number : 29 Question Id : 7532295290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is Dhamek Buddhist Stupa located?
Options :

1. # Ranchi

2. ¥ Sarnath

3. % Nagaland

4. ¥ Meghalaya

Question Number : 29 Question Id : 7532295290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YTRG Il WU ol U g7

Options :

1. % =

2. ¥ ORAY

3. % RS

4. % HUY

Question Number : 30 Question Id : 7532295291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which dance form of Kerala means 'A play with clapping of hands?'
Options :



1. # Kathakali

2. % Mohiniattam
3. % Kolkali

4. ¥ Kaikottikkali

Question Number : 30 Question Id : 7532295291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 & & oa & 5 T et & 10 HT AMfeadh 312 g1t I arell ST 82
Options :

1. % Byl

2. % HifgAlsigH

3. % Plehall

4. ¥ BBIGIDBICT

Question Number : 31 Question Id : 7532295292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who became the Governor- General of India in 1848?
Options :

1. # Lord Cornawallis

2. % Lord Canning

3. # Lord Ripon

4. ¥ Lord Dalhousie

Question Number : 31 Question Id : 7532295292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1848 H HRA & TA-R-SFRd B (e 8T 42
Options :

1. % dis eHarneg




2. % TS BT
3. % @re Ruq
4. TS SAGSN

Question Number : 32 Question Id : 7532295293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where are the headquarters of the International Bank for Reconstruction and Development (IBRD) located?
Options :

1. * Tokyo, Japan

2. % Manilla, Philippines

3. ¥ Washington, D.C, United States

4. # New Delhi, India

Question Number : 32 Question Id : 7532295293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ZEARAA §F BR RebcaRH TS STAuHe (313 ot 3R ST BT AT Hel (U 82
Options :

1. % Tl S

2. % T, fhdidig

3. ¢ qIRTe S, Tgad sy AR

4. % =g fdeeh, URd

Question Number : 33 Question Id : 7532295294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vautha Fair is the famous fair of which of the following state?
Options :

1. ¥ Gujarat

2. # Rajasthan



3. % Haryana
4. % Bihar

Question Number : 33 Question Id : 7532295294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aryr B Fafoiaa & § fore g &1 ufkig Aa 82

Options :

1. % T[SRId

2. % ST/
3. % g
4. % f9gR

Question Number : 34 Question Id : 7532295295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists is known for the discovery of the relation between the surface and volume of a sphere and its circumscribing
cylinder?

Options :

1. ¥ Aristotle

2. # Thales of Miletus
3. ¥ Anaximander

4. ¥ Archimedes

Question Number : 34 Question Id : 7532295295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed o 9 ford amfe 31 T e &1 g SR 3T & oid & e 31 e & oI S S 82

Options :

1. % 3R¥
2. % U 3T fArferew




3. % JMEMRIASR
4. ¢ MBS

Question Number : 35 Question Id : 7532295296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following principle/law describes energy conservation for ideal fluids in steady, or streamline, flow and is the basis for many
engineering applications.

Options :

1. # Archimedes Principle

2. % Avagadro’s Law

3. ¥ Bernoulli's Principle

4. % Stefan’s Law

Question Number : 35 Question Id : 7532295296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁﬁ?ﬁﬁ@rﬁqw%@ﬁ/ﬁw@r{,mmﬁmwwﬁ$mWWWwaﬁqW%3ﬁwﬁ§ﬂﬁuﬁnm$m
HIUR 57?2

Options :

1. % il Rigid

2. % 3fAITgl &1 A

3. ¢ A B Rigid

4. % o o1 fAgq

Question Number : 36 Question Id : 7532295297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some populations of which of the following tribes migrated from Nepal and settled in India?
Options :

1. ¥ Gorkhas

2. # Gadaba



3. ® Damaria

4. % Meenas

Question Number : 36 Question Id : 7532295297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & & o W SOt AuTd ¥ faRfid giex YRd 8 99 7152
Options :

1. ¢ TREl

2. % Tedl

3. % AT

4. % Hu

Question Number : 37 Question Id : 7532295298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Mobile app launched by the RBI Governor to help visually impaired identify the notes of different denominations is named as
Options :

1. ¥ MANI

2. % BHIM

3. ¥ RUPAY

4. % YONO

Question Number : 37 Question Id : 7532295298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 HiTEe U0 1 - 1 8 R 3R oft 311 o ek A efPariere bl faf¥r wewa o el 1 uger - § Hag & fog dl= fobar um
Options :

1. ¢ Tt

2. % iy

3. % ¥U




4. % g

Question Number : 38 Question Id : 7532295299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Biju Janata Dal (BJD) is an Indian political party prominent in the state of Odisha. Currently, who led this party?
Options :

1. # Biju Patnaik

2. ¥ Naveen Patnaik

3. % Arjun Charan Sethi

4. % Baishnab Charan Parida

Question Number : 38 Question Id : 7532295299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS SHAT & (BID) T R IoiTad UTe g St SNSRI Xsd H U 8 | aHM & 59 UIel &7 Agd I 61 38T 87
Options :

1. % oI geAdd

2. ¢ I U~

3. % 319 TROT ST

4. ® SWTF TRUT GRST

Question Number : 39 Question Id : 7532295300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Indian Prime ministers and their year of tenure, which one of the following pairs is INCORRECT?
Options :

1. # Jawaharlal Nehru- August 15, 1947 - May 27, 1964

2. % Lal Bahadur Shastri- May 27, 1964 - June 9, 1964

3. # Indira Gandhi - January 24, 1966 - March 24, 1977

4. % Morarji Desai- March 24, 1977 - July 28, 1979



Question Number : 39 Question Id : 7532295300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # § & a1 YR gyHE 3R 3% Bferd o1 a¥ 98l el 82
Options :

1. % SATERA 18% - 15 3T 1947 F 27 U3 1964

2.« TTd 98GR YR - 27 FS 1964 1 9 S 1964

3. % SRR - 24 SHART 1966 T 24 AR 1977

4. % ARSI CHTS - 24 A1 1977 ¥ 28 SaTS 1979 AD

Question Number : 40 Question Id : 7532295301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Gulf of Khambhat, also called “Gulf of Cambay” is the gulf of
Options :

1. ¥ Bay of Bengal

2. ¥ Arabian Sea

3. # Pacific Ocean

4. ® Atlantic Ocean

Question Number : 40 Question Id : 7532295301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B! T@ret, B “p Bl wrsl” N wgroars, prEs gl
Options :

1. % A D W1

2. % IRIYTR

3. % JId AR

4. % 3fCdiich HENIR




Arithmetic Ability

Group Number : 3

Group Id : 753229277

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Arithmetic Ability

Section Id : 753229277

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229334

Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532295302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two shopkeepers display same marked price of an Electric Shaver. One declares successive discount of 30 % and 6 %o
and the other declares successive discounts of 20 % and 16 %. Which discount series is more beneficial to the customer

and by how much percent?



Options :
| First by 1.4%

», % Second by 1.4%
; % Both are equally beneficial

4 = First $34.20

Question Number : 41 Question Id : 7532295302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<l gPHER Safeee AR &1 ifebd Jed TAM T I Ui 30 81 TP 30% 2R 6% B i Fe ! 9o
AT & AR TR 20% AR 16% DI hiHd B¢ bl U Dl & | Ued b (oY I Al e FTa S BHcHS ¢
AR e 06 12

Options :

| v USUI1.4% Y

L x QU 14%Y
s % GHI gl g9 Y J AHBRI §
, % TBUBI234209

Question Number : 42 Question Id : 7532295303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A shopkeeper buys an Electric Press for 22500 and marks its price 20% higher than the cost price. He latter sells it a
discount of 10%. What will be his profit or loss%s?
Options :
L v 8% profit

> % 8% loss
3 % 20% profit

4 % 20% loss

Question Number : 42 Question Id : 7532295303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh SHIER 22,500 & [T U galfded WY Wiiedl 8 3R 38! alfchd &1 75 BIAd ARTd Hed ¥ 20% (4D
916 H 98 34 10% &1 B¢ R &9 Sl g | IHD oY TT 11 61 2% F1 ST

Options :
| v 8% PITH

3 % 20% T TH

4 % 20% 7B I

Question Number : 43 Question Id : 7532295304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Two students 'A'" and 'B' appeared for in an examination. 'A' secured 9 marks more than 'B' and his marks was 56% of
the sum of their marks. The marks obtained by 'A" were:
Options :

1 % 33

o # 40

I

Question Number : 43 Question Id : 7532295304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<l faenTiiar A iR B = T Uian # HRT RN A B o ofdh Hfed UK Y 3R IHdb 2ids, I7ch 3iehl & TN &bl
56% Y| 'A' 7 faA 3 Wi fHu:

Options :

1. % 33

7w 40

[E]

Question Number : 44 Question Id : 7532295305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A mixture of 60 liters of milk and water contains 15% water. How much water should be added to this so that water may
be 25% in the new mixture?
Options :
1.« 8 liters

o % 10 liters
3 % 12 liters

4 % 06 liters

Question Number : 44 Question Id : 7532295305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
60 TICX Y R Ul o YOI H 150 T S 1 =TT 901§ U1 2506 1 o (o SHH faha1 Uit 1R e o
e

Options :

Question Number : 45 Question Id : 7532295306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The ratio of son age to father is 2 ; 5, the product of their age is 1000. The ratio of their age after 10 years will be :
Options :

-

1. # .l |

Question Number : 45 Question Id : 7532295306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U §C D1 TG BT 3 (Ul ] AT AU 2:5 1 391 AT BT IUFGA 1000 51 10 TY G716 3761 341G B
31UTd I BT

Options :

1. ® . |

Question Number : 46 Question Id : 7532295307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



Sudha has savings in her post office account and bank account in the ratio 6:7. She spent 15% of the amount from her
post office account for purchasing a new mobile phone. If cost of her new mobile phone is 13500, then how much

money she has in her bank account?
Options :
| % Z90000

5 % Z15000

3 2105000

4 % 276500

Question Number : 46 Question Id : 7532295307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URe HIThY @Td AR & @I T YT & S b1 91 6:7 ¢ | 791 HISI5d BIF BRied o (U 98 29 URe
HIHY WA 15% YRR T Bl 8| i ITh T¢ HIGIZA B BT Hed 13,500 8, A1 39D dcp Wid H ol
R 82

Options :

| % %90.000

, % 15,000
3 » 21,05,000

4 % 276,500



Question Number : 47 Question Id : 7532295308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The selling price of 6 air coolers is same as the cost price of 4 air coolers. What is the profit or loss percent?
Options :

1
66— % Loss
1. ® 6

1
33—9% Loss
2. 3

1
66 E 2% Profit

1
33—9% Profit

4% 3

Question Number : 47 Question Id : 7532295308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 TR HeR & (3560 H, 4 TR R & 4 Jod o G ¢ | A I1 81+ Wia=Id 31d

Options :

66%% RIIGI

1. %



06 E % ¢TH

3. %

33204 W
4. % 3

Question Number : 48 Question Id : 7532295309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the compound interest on 21,60,000 in 2 years at 10% per annum, the interest being compounded half-yearly.

Options :
1 % Z34.000

, % 734,280
3 % 334,452

4 334,481

Question Number : 48 Question Id : 7532295309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
71,60.000 TR 2 T4 H TGl &1 10% AN &R  fohc1 Tshqgieq saTel UItd BT, Il sa1e Hefarities diR W ashafdld
gIa gl

Options :
| ® 34,000

5 % 234,280



3 % 134,452

4 v 34481

Question Number : 49 Question Id : 7532295310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A farmer travelled a distance of 84 km in 9 hours. He travelled partly on foot at 5 knvh and partly on bicycle at

10 km/'h. The distance travelled on foot is:
Options :
1 % 16km

7« 6km
3 % 26km

4 % 18 km

Question Number : 49 Question Id : 7532295310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@5 fHAM 84 km B g3l 0 U H G Bl ¢ | 8 3HifRIH U Y $& G4l 5 kmvhr 1 9160 9 U5 SR AW G 10
km/hr &1 910 U HIglhd U 09 &l ¢ | 3P GRI UGd a8 1 1T gl 3i1d B

Options :
1 ® 16km

7« 6km



3 % 26km

4. % 18 km

Question Number : 50 Question Id : 7532295311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person crosses a 720 m long bridge in 6 minutes. What is his speed in km/h?
Options :

1 % 4.7

Question Number : 50 Question Id : 7532295311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh et 720 HICR e I Bl 6 FATC H UR X o1l 8 | 3| I1a Tt Uil UeT # 1 82
Options :
1% 4.7




Question Number : 51 Question Id : 7532295312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the simple interest on a sum of 22,56,000 at a rate of 8% per annum for 3 years?
Options :

|« 361,440

5 % 224,000
3 % 26,140

4 % %61.600

Question Number : 51 Question Id : 7532295312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%2.56.000 I IR TR 82 TIMNPH &I Y 3 TN T WIYRU TS J1d B |
Options :
| v 61,440

5 % 224,000
3 % %6140

4 % 61,600



Question Number : 52 Question Id : 7532295313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylindrical copper rod of diameter 4 cm and of length 20 cm is converted into a wire of 3.2 m length of uniform
thickness. Find the radius of the wire (in cm).

Options :

1. % 0.25

Question Number : 52 Question Id : 7532295313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 cm R 3R 20 cm TS &I T SAIHR 16 1 S6 Bi 3.2 HIc Tdl5 Bl THUHM AT & d) H gRafid fedr
STl & | TR I 21591 1A B (em H))

Options :

L % 0.25



Question Number : 53 Question Id : 7532295314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following histogram, which represents the length (in cm) of thirty wardrobes in an online furniture store, and

answer the given questions.

[
(=]

Frequency
2 = kR oW B W Oh o=l B WD

139.5 145.5 159.5 169.5 179.5 189.5 194.5

length in cm

How many wardrobes are available whose length is less than 159.5 cm?

Options :
1 ® 12

) # 16

3.¢ 15

4 % 17

Question Number : 53 Question Id : 7532295314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A U 71U sigdfes (fRwe i) T 3{e0dH B ol U g Bra R H 1Y 9reiid &) ddlg (cm H) DI
TefRfd Har g 2R A T U Ui & SR ¢

-
=]

(=T T T LI - T I -

139.5 1495 159.5 169.5 179.5 189.5 199.5
F»iﬁTé‘{cm fr}
U fohdH aredd U ¢ folde! ddls 159.5 cm U HH &2

Options :

1 ® 12
) # 16
3.¢ 15

4 % 17

Question Number : 54 Question Id : 7532295315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The given double bar graph shows relative outputs produced by seven employees in the given time-periods, comparing
two employees at a time. For example, in the time-period that A produces 4 units, B produces 5 units. Likewise, in the

time-period that B produces 15 units, C produces 12 units. The representation continues in this manner.

EF

18

14 4

1z 1

in

§ —

PR — =

& 4+ — -

3 4+

O +— S
A B B C

If every employee is paid according to one's productivity, and A gets an hourly wage of 2175, what will be the hourly

F G

wage of G?

Options :
1. % 525

, #% %425
3 % 350

4 v F400

Question Number : 54 Question Id : 7532295315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 525

» % %425
3 % %350

4 & %400

Question Number : 55 Question Id : 7532295316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The given bar graph shows the data of the expenses by three different families A, B and C over five different weekends.

BFamily A ®Family B 8 Family C

= =
= =]
Ty Ty}
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oy
=z
= = &
= = <.
=1 = =] =
o I o i
] i) ] ]
=]
c £2
]
[~

WEEKEND 1 WEEKEND 2 WEEKEND 3 WEEKEND 4 WEEKEND 5

450

350

oo

In which weekend was the percentage of expensed amount in family C to the amount expensed in family B the
maximum?
Options :

15t weekend

1. %
5 « 2% weekend

53 % 3™ weekend

4 % 41 weekend



Question Number : 55 Question Id : 7532295316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 56 Question Id : 7532295317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the least among the following?
Options :

1w 04

, % 1+04

3w (04)

4 % 4.0

Question Number : 56 Question Id : 7532295317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad | 9 fooge 99 9ad &H 82

Options :
1% 04

% 1+04

3w (0.4

4 % 4.0

Question Number : 57 Question Id : 7532295318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many digits will be there to the right of the decimal point in the product of 89.635 and 0.02216?
Options :
1. ® 8

» ® O

Question Number : 57 Question Id : 7532295318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

89.635 R 0.02216 P YUMBA H GRHG [6g o &I HR fdhd 37 gH I
Options :

1. % 8

2.% 6

Question Number : 58 Question Id : 7532295319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solve:
If 135% of 450 - x% of 225 = x% of 1800, find x



Options :
1. % 10

o b |

Question Number : 58 Question Id : 7532295319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gl 450 BT 135% — 225 BT x% = 1800 D x%, x PI T 1A B

Options :
1. % 10

o b |

Question Number : 59 Question Id : 7532295320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The numbers 1 to 15 are written side by side as 123456789101112131415. If the sum of the digits of this number is
divisible by 6 then the remainder is

Options :



Question Number : 59 Question Id : 7532295320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 T 15 b oI Tl & 123456789101112131415 I dig TY-T1Y TG U T §915 ikl & | IS 59 W
D 3iPH! &b AN DI 6 I faHIOId fohar OTdT 8. T1 ANHd Tdhd-T U g

Options :

1 ® 2

2.¢ 0

3 % 4

Question Number : 60 Question Id : 7532295321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two person X and Y run along a circular path 10 km long. They start their race from same point and at same time with a

speed of Skm'h and 6kmv/h respectively. After what time will they meet again.

Options :



o % 1l hr
3 10 hr

4 % 9hr

Question Number : 60 Question Id : 7532295321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X ¥R Y B TYWAIC, 10 km T FUGR AR W EI5d &1 9 U A4 FHM f6g 9 HHRL: skavh AR 6km/h BI 9el A
Gre = oXd ¢ | [ gaa 918 d fihe ¥ firefie

Options :
| % SHCI
» % 119l
3« 10HCT
4 % 9 Hel
General English
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Group Id : 753229278
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 753229278

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229335

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532295322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

coffee grows in the southern state of Kerala.
Options :
1. * A
2. % An
3. # The
4. ¥ No Article

Question Number : 61 Question Id : 7532295322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

coffee grows in the southern state of Kerala.
Options :
1. % A
2. % An
3. % The
4. ¥ No Article

Question Number : 62 Question Id : 7532295323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

What wonderful day!
Options :

1.¥a

2. % an

3. # the

4. # No Article

Question Number : 62 Question Id : 7532295323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

What wonderful day!
Options :

1.¥a

2. % an

3. # the



4. % No Article

Question Number : 63 Question Id : 7532295324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

I love way my teacher teaches.
Options :

l. % a

2. % an

3. ¥ the

4. # No Article

Question Number : 63 Question Id : 7532295324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

I love way my teacher teaches.
Options :

1. % a

2. % an

3. ¥ the

4. % No Article

Question Number : 64 Question Id : 7532295325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

I was born on rainy monsoon day in July,
Options :



1.¥a

2. % an

3. % the

4. ¥ No Article

Question Number : 64 Question Id : 7532295325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

I was born on rainy monsoon day in July,
Options :

1.¥a

2. % an

3. % the

4. % No Article

Question Number : 65 Question Id : 7532295326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct homonym pair to be filled in the following sentence:

Ram is learning while his mother is working on another of her book on Indian recipes.
Options :

1. ¥ addition, edition

2. % edition, addition

3. ® addition, addition

4. # edition, edition

Question Number : 65 Question Id : 7532295326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct homonym pair to be filled in the following sentence:



Ram is learning while his mother is working on another of her book on Indian recipes.
Options :

1. ¥ addition, edition

2. % edition, addition

3. # addition, addition

4. ® edition, edition

Question Number : 66 Question Id : 7532295327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

All my books/ and clothes / were packed neatly / from a cardboard box.
Options :

1. # All my books

2. % and clothes

3. % were packed neatly

4. ¥ from a cardboard box

Question Number : 66 Question Id : 7532295327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

All my books/ and clothes / were packed neatly / from a cardboard box.
Options :

1. # All my books

2. # and clothes

3. # were packed neatly

4. % from a cardboard box

Question Number : 67 Question Id : 7532295328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

All moonshine

Options :

1. # Real situations

2. % Without any faults
3. ¥ Far from reality

4. ¥ Something auspicious

Question Number : 67 Question Id : 7532295328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

All moonshine

Options :

1. # Real situations

2. # Without any faults
3. ¥ Far from reality

4. # Something auspicious

Question Number : 68 Question Id : 7532295329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

I am knowing/ the name of the king/ who built/ this beautiful palace.
Options :

1. ¥ [ am knowing

2. # the name of the king

3. % who built



4. # this beautiful palace

Question Number : 68 Question Id : 7532295329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

I am knowing/ the name of the king/ who built/ this beautiful palace.
Options :

1. ¥ T am knowing

2. % the name of the king

3. % who built

4. % this beautiful palace

Question Number : 69 Question Id : 7532295330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

After finishing the work,/ my friend and I/ went to a near restaurant/ for a quick meal.
Options :

1. #¥ After finishing the work

2. % my friend and I

3. ¥ went to a near restaurant

4. % for a quick meal

Question Number : 69 Question Id : 7532295330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

After finishing the work,/ my friend and I/ went to a near restaurant/ for a quick meal.
Options :



1. # After finishing the work
2. # my friend and I
3. ¥ went to a near restaurant

4. # for a quick meal

Question Number : 70 Question Id : 7532295331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option is appropriate for the blanks.

Please do work, while I check the answer of this difficult

Options :

1. # sum, sum
2. # some, some
3. #* sum, some

4. % some, sum

Question Number : 70 Question Id : 7532295331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option is appropriate for the blanks.

Please do work, while I check the answer of this difficult
Options :

1. #* sum, sum

2. % some, some

3. % sum, some

4. ¥ some, sum

Question Number : 71 Question Id : 7532295332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.



This hall/ is not enough spacious/ to accommodate/ hundred people.

Options :

1. # This hall

2. ¥ is not enough spacious
3. % to accommodate

4. ¥ hundred people

Question Number : 71 Question Id
Orientation : Vertical

: 7532295332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

This hall/ is not enough spacious/ to accommodate/ hundred people.

Options :

1. # This hall

2. ¥ is not enough spacious
3. % to accommodate

4. # hundred people

Question Number : 72 Question Id
Orientation : Vertical

: 7532295333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with correct option given below.

you are not well, you need not attend the lecture today.

Options :

1. ¥ Whether
2. % Though
3. # But

4. ¥ Since

Question Number : 72 Question Id

: 7532295333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with correct option given below.

you are not well, you need not attend the lecture today.
Options :
1. ¥ Whether
2. % Though
3. % But
4. ¥ Since

Question Number : 73 Question Id : 7532295334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate idiom. The meaning of the idiom is given in brackets for guidance.

The experiment has failed. We are back to (go back to the beginning/start afresh).
Options :

1. # heaven and hell

2. # dead end

3. # front line

4. ¥ square one

Question Number : 73 Question Id : 7532295334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate idiom. The meaning of the idiom is given in brackets for guidance.

The experiment has failed. We are back to (go back to the beginning/start afresh).
Options :

1. # heaven and hell

2. # dead end

3. * front line



4. ¥ square one

Question Number : 74 Question Id : 7532295335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most correct option to describe the man.

The wealthy businessman was loved by all. He always helped the poor and needy, especially by giving them money.
Options :

1. ¥ Philanthropist

2. # Pastoralist

3. % Philatelist

4. % Protagonist

Question Number : 74 Question Id : 7532295335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most correct option to describe the man.

The wealthy businessman was loved by all. He always helped the poor and needy, especially by giving them money.
Options :

1. ¥ Philanthropist

2. # Pastoralist

3. % Philatelist

4. # Protagonist

Question Number : 75 Question Id : 7532295336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most suitable Antonym of the following word from the options given below.

Authority
Options :



1. * Leadership
2. % Command
3. ¥ Weakness

4. % Supremacy

Question Number : 75 Question Id : 7532295336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most suitable Antonym of the following word from the options given below.

Authority
Options :
1. # Leadership
2. % Command
3. ¥ Weakness

4. # Supremacy

Sub-Section Number : 2
Sub-Section Id : 753229336
Question Shuffling Allowed : Yes

Question Id : 7532295337 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select the most appropriate
option for each number.

When we communicate in (1) only 10% of our meaning is conveyed (2) words, while the rest comes from our (3)
expressions, tone of our voice and other (4) cues. Our computers are (5) to non- verbal cues.

Sub questions

Question Number : 76 Question Id : 7532295338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in blank no.1.



Options :
1. # facing
2. % writing
3. % person
4. ® print

Question Number : 77 Question Id : 7532295339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.2.
Options :

1. ¥ through

2. % of

3. % for

4. % into

Question Number : 78 Question Id : 7532295340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.3.
Options :

1. % outer

2. % superficial

3. ¥ facial

4. % inner

Question Number : 79 Question Id : 7532295341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.4.
Options :

1. % ignorant

2. ¥ subtle



3. % harsh

4. % secure

Question Number : 80 Question Id : 7532295342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.5.
Options :

1. ¥ oblivious

2. % careless

3. # forgetful

4. % regretful

Question Id : 7532295337 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select the most appropriate
option for each number.

When we communicate in (1) only 10% of our meaning is conveyed (2) words, while the rest comes from our (3)
expressions, tone of our voice and other (4) cues. Our computers are (5) to non- verbal cues.

Sub questions

Question Number : 76 Question Id : 7532295338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.1.
Options :

1. # facing

2. # writing

3. % person

4. # print



Question Number : 77 Question Id : 7532295339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.2.
Options :

1. ¥ through

2. % of

3. % for

4. # 1nto

Question Number : 78 Question Id : 7532295340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.3.
Options :

1. #* outer

2. % superficial

3. % facial

4. *# inner

Question Number : 79 Question Id : 7532295341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to fill in blank no.4.
Options :

1. * ignorant

2. % subtle

3. * harsh

4. % gecure

Question Number : 80 Question Id : 7532295342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in blank no.5.

Options :

1. % oblivious
2. % careless

3. * forgetful
4. % regretful

General Hindi
Group Number : 5
Group Id : 753229279
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi
Section Id : 753229279
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229337
Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 7532295343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SEsiTe gHr 1 2 I didisr: ea &1 Ifd faurg &-
Options :

1. % Tdl {1 BT HUST

2. % gg Uidl ®Us]

3. ¥ Uil BUSI § oIl a8

4. % O T HT o 91 HUST § I8

Question Number : 81 Question Id : 7532295343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jgsiife gurg @1 =} & diater’ Weg &1 3R favre -
Options :

1. % Uid {1 HUST

2. % g Uil pUSI

3. ¢ el pUST & S a8

4. % Ui T &1 S A1 HUST § I8

Question Number : 82 Question Id : 7532295344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eTaR 1 o Fafafed & ¥ fred SrgaR g 82
Options :

1. ¢ U

2. % T

3. % el

4. % yrard



Question Number : 82 Question Id : 7532295344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTaR o1 3% Faferiad # 9 fordeh S8R Bl 82
Options :

1. ¢ g

2. % T

3. % Rl

4. % yrard

Question Number : 83 Question Id : 7532295345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRTHT T WR 81 Tl T - TR o ford Iferd Gerar 8T -

Options :

1. % UIg BT Teg I

2. % TSI UG

3. ¢ AHR BT HHR g
4. % QIS @A

Question Number : 83 Question Id : 7532295345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI T OR G 1T - ITeRIT=I o feTd Sferd YeTarT g -

Options :

1. ® YIS BT T B

2. % Ul UG

3. ¢ ADR BT HHR Bl
4. % QTSI @A

Question Number : 84 Question Id : 7532295346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FYTRIfeRT WMo H AN § -
Options :

1. ¢ 3{gUHId Ja™

2. % gg gy

3. % §gdifs a9

4. % JoY U

Question Number : 84 Question Id : 7532295346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT Ve H AN & -

Options :

1. ¥ 3fediHId FHY

2. % GG gAY

3. % §gdifs Ia™

4. % oY JHY

Question Number : 85 Question Id : 7532295347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T d-dH $T 5! SIS] T8l &:

Options :

1. ¢ Grs-quH

2. % UG-

3. % -l

4. % QIT-qAT

Question Number : 85 Question Id : 7532295347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TG d-TH BT 5! SiIST T8 &:

Options :

1. ¢ IIg-quy

2. % Hi-=iY

3. % ¢NI-IT

4. % AT

Question Number : 86 Question Id : 7532295348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad ot 3 9 S reg &1 g HIfvTe?
Options :

1. % HIq

2. % BRI

3. ¢ fag

4. % 4%

Question Number : 86 Question Id : 7532295348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaiad o o 3§ RIS e &1 T HIToTg?
Options :

1. * HIq

2. % BRI

3. ¥ Rt

4. % 4%

Question Number : 87 Question Id : 7532295349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



forr arerer & fore I ATy e gan “us e Uel 18 /2
Options :

1. % Gdl & ofiFl 3R U aTel R - Uhgi

2. % g9 H Sl dTell dde! — ArHYT

3. % S <fe AP 1 aTel 81 - &R

4. ¢ T8 T g & H, I iR 3191 &1 99 81 - Rpras

Question Number : 87 Question Id : 7532295349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr g areraier 3 forg 9 Ty fa gaim ueh Tee® G TS &2
Options :

1. % Qg & fiFT SR U aTel R - Uragia

2. % §a H S Tl ddbo! — JrHeT

3. % I =Y Y B dTell 81 - &UIHR

4. ¢ 98 T Fo9H &H, SUREAT IR I o1 9ufiH 81 — BT

Question Number : 88 Question Id : 7532295350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfeiRad BRI ®I Ie! faHfca A Faferd sifer-

(1yPH (3n 3
(2) THEH @

(3) 3ffIHOT El
(4) BT GEAN
Options :

L. % 1-(30), 2- (4), 3-(Q), 4-(9)
2. ¥ 1-(9), 2- (@), 3-(J), 4-(30)
3. % 1-(9), 2- (4), 3-(Q), 4-(30)
4. % 1-(), 2- (30), 3-(9), 4-(8)



Question Number : 88 Question Id : 7532295350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad FR®! &1 33! faufdd T Jafid HifeR-

(1yPH (3N ¥
(2) THIEH @ H

() A¥POT (@) B
(4) FROT @ & g
Options :

1% 1-(31), 2- (4), 3-(2), 4-(9)
2. ¥ 1-(X), 2- (@), 3+(9), 4-(3f)
3. % 1-(9), 2- (¥), 3+(<), 4-(3)
4. % 1-(Q), 2- (30), 3-(F), 4-(4)

Question Number : 89 Question Id : 7532295351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofaied # © fawmfe Sy sierd &1 991 B
Options :

1. % 9gH

2. ¥ 3|

3. % 3d

4. % |

Question Number : 89 Question Id : 7532295351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRed # ¥ fowaie Siu® /g &1 99 HIfve?

Options :

1. % 98N



2. ¥ 3|
3, % 39
4. % 0

Question Number : 90 Question Id : 7532295352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T BT YgTaar] s T8l 5

Options :

1. % &

2. % gH

3. ¥ IRYY

4, % Hh

Question Number : 90 Question Id : 7532295352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G BT Ygigar] s T81 8

Options :

1. % $HIq

2. % gH

3. ¥ IRY

4, ¥ dd

Question Number : 91 Question Id : 7532295353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS et JH a1 6:

Options :

1. % 949

2. #® pUSI-ddl



3.« QM-
4. % BIE-dNIR

Question Number : 91 Question Id : 7532295353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS e TH 8] 6

Options :

1. % AIS-AWR

2. & HUS[-ddl

3. ¢ Q-

4. % BIC-dVIR

Question Number : 92 Question Id : 7532295354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TG g §:

Options :

1. ¢ R[I-JYId

2. % Ydld-oldid

3. % Q-G

4. % forgH-ugH

Question Number : 92 Question Id : 7532295354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T g g B

Options :

1. ¢ R[aI-JYId

2. % {drd-oidid

3. % TF-GA



4. % fr@A-UG

Question Number : 93 Question Id : 7532295355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T e P oTT HIF-T IR T8I 82
Options :

1. ¢ S e Aq 9 8l

2. % Gl fo=H Mg g

3. % AT 8

4. % Sl ff=ra gl

Question Number : 93 Question Id : 7532295355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T’ Yeg & [T HIH-TT ITHIT TgT 82
Options :

A REEREIEN]

2. % Sl fra a8

3. % S AdaA gl

4. % S ff~d sl

Question Number : 94 Question Id : 7532295356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAr BT T 2eE Tl B

Options :

1. ¥ hdld

2. % Ui

3. % SHORY

4, % At



Question Number : 94 Question Id : 7532295356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT BT FAMA et TE @
Options :

1. ¢ H©dld

2. ® qforep

3. % URY

4. % gl

Question Number : 95 Question Id : 7532295357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o 2 fry wrse gm o1 ord gAfera T8t 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. TRA-EY - FH-THSI

2. e hI-Yf&Tep]--Tfear-Tel

3. IUYG-YIG--FUd- TS

4. FeR-31f% H1a—dR HUST

Question Number : 95 Question Id : 7532295357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafiea 3 3 forg wrss g &1 o gaAfera 78t g7
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :

1. TRA-GEY 3Hfw--aH-aHST
2. ChI-YRIbT--T[fea-TTeit
3. IUd- a1

4. eR-31f¥% HTa-— IR HUST

Sub-Section Number : 2
Sub-Section Id : 753229338
Question Shuffling Allowed : Yes

Question Id : 7532295358 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

9 TR B ufeu SR ITF YR W AT 7T vl & IR S|

PHid Yol TU I Yeq| b1 BN Afad § qulaar uikird giar g | STD! AR UfaHT B Jadb-fdd, Xeq TUT Alg BT 3TAT 3R Jid alt
g | o TR GUUI & A OfF IR T8 BT 311 90 THIUS [G@TS ¢ Ol 5 AR SHDT UYU] &0 AT 3T ST 5, 3T THR Hfd Bl
YT, BT H TS Yea! U W §1 Ol § 3R ISP Xed a1 Sl 1 AT 8l & fb 391 TR orjyd o & u d fafyd g smar g
TiIHTRITe Bfd S0 Xfad & U1 H T Teg B Sifdd T H ¢adT ¢ | SHAY 3Hb gRT Ugad Xegl § ¥d3 HId B Hell Higd e7h
3R HATHR qUT Hid, Ve &b 3d:Ued T U AT P T B | 3T fhRraur g T8 i ude aafad & $2 o=t fFon fagsar
g g, T 70T 78 d € SiR it cafdd Ygd1 | Hid 371 701 &1, Afddd & SR fa=ivdraf & ugami SR S9@! aa-t § e 2ss
U1 gRT forfeh aa gl forg Fop Tl TS id i ftet fAfgd g1t

Sub questions

Question Number : 96 Question Id : 7532295359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S 3{IARUT & [oT IuGed Mud T I
Options :

1. % fd BT 3T T

2. % i BT UG 3R faaR

3. ¥ Hid DI YfcTHTRITRT

4. % DJ BTG



Question Number : 97 Question Id : 7532295360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hfa BT U1 Iy Ty 81 1 32
Options :

1. % QbR UfdHT

2. % Bid b dge

3. % ®id & RIS 4

4. ¥ BT | YgFIeg] o

Question Number : 98 Question Id : 7532295361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{THT & G, BT 3R FATGR H8l B 82
Options :

1. ¢ Yedld 3fd: Ued o

2. % 30 3HT H

3. % 3{UF Jeb-Ifckd H

4. % UV S GEA

Question Number : 99 Question Id : 7532295362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TABRR TlaTHT 7 &1 1y 82
Options :

1. % QYR GfHT

2. ¢ faceror ufawn

3. % WAIBIYGIT GicrHT

4. % AIBERI UfdHT

Question Number : 100 Question Id : 7532295363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fhfer o1 31 g B-
Options :

1. ¢ Il

2. % WUlal

3. ¥ dgd Hlal

4. % fAf3q

Question Id : 7532295358 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

9 TR B ufe T SR ISP YR W AT 7T vl & IR |

PHid Tgol U J Weq| B! ATHYUT Mfaa J quiaar aRfad 81T 8 | SUH! AR UidHT Bt Jadh-ad, eg Ul dlg ! 3U-T 3R Jid adt
| o TR gUU1 & A F IR A9 Bl 3P d STH THIU [GaTs ¢ Sl § 3R ST GYU] ¥ UHH 311 S1dT 5, 31 UHR Hid B
Y9, HTed H Ugad Yec] U WY g1 ST g 3R P eg 31 HRIeTdT I JfAd Bid 8 i 3wt R srqva ke & S A Rifa g S g
TiIUTRITe Hid U Xfad & UHTRI H T Teg Bl Sifdd T H ¢l ¢ | SHOY 3HD gRT Ugad Xegl § ¥a7 HId B Hell Higd e7h
3R FATHR IUT HId, e & fd.Tecd A 3T T & &= B | 9H fhfaaar Wg 78! for Udie aafad &1 $& 3t ol fa=rean
gl B, i 07 T8 § 3R Ao safdkica Tea1 81 fa 37 7l oY, safakie b 3R fawerail o) ugami 3R STes! ket & Rba wsg
1 8 SRS 9 el fora gobem forg fa Y sire fRifgd gt

Sub questions

Question Number : 96 Question Id : 7532295359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 3RUT o 7T Iuger e T g
Options :

1. % fd BT 3T U

2. % i BT UG 3R faaR

3. ¢ Bid Bl UfHTRIRT

4. % Hfd BT I



Question Number : 97 Question Id : 7532295360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hfa BT U1 Iy Ty 81 1 32
Options :

1. % QbR UfdHT

2. % Bid b dge

3. % ®id & RIS 4

4. ¥ BT | YgFIeg] o

Question Number : 98 Question Id : 7532295361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{THT & G, BT 3R FATGR H8l B 82
Options :

1. ¢ Yedld 3fd: Ued o

2. % 30 3HT H

3. % 3{UF Jeb-Ifckd H

4. % UV S GEA

Question Number : 99 Question Id : 7532295362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TABRR TlaTHT 7 &1 1y 82
Options :

1. % QYR GfHT

2. ¢ faceror ufawn

3. % WAIBIYGIT GicrHT

4. % AIBERI UfdHT

Question Number : 100 Question Id : 7532295363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhfer o1 31 g B-
Options :

1. ¢ Il

2. % WUlal

3. ¥ dgd Hlal

4. % fAf3q
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Sub-Section Id : 753229339
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532295364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the French social analyst who declared that the changes in society brought about by the French revolution amounted to ‘nothing short of
the regeneration of the whole human race”.

Options :

1. # Karl Marks

2. ¥ Alexis de Tocqueville
3. % Emile Durkheim

4. % Max Weber

Question Number : 101 Question Id : 7532295364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 I AT fa=eises &1 o1 =TH AT forem g °ivon &1 ot f i &t Hifd & SR 9 8 gU aRkad =qul Jd Sifd &
IRI™ME Y HY el A

Options :

1. ® PHId A

2. ¢ TR St bfda

3. % TS gEd

4. % U IR

Question Number : 102 Question Id : 7532295365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Europe, which revolution marked the rise of political power for new middle classes, instead of aristocrats and kings?
Options :

1. # The Black Power Revolution

2. ¥ The French Revolution



3. #* The Industrial Revolution

4. * The American Revolution

Question Number : 102 Question Id : 7532295365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T F, {59 wifd & HRT SIS atf iR el & oo, 8 e 311 & forg o1 =fad &7 3ad gl Ul
Options :

1. % 31 YT (i UlaR) hifal

2. ¢ il whifd

3. % SfINRTD wifd

4. % MNP Hifd

Question Number : 103 Question Id : 7532295366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who recognised the absence of general science that deals with society as a whole?
Options :

1. # Emile Durkheim

2. # Herbart Spencer

3. % Auguste Comte

4. ¥ Max Weber

Question Number : 103 Question Id : 7532295366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufefed & 3 fooam a8 o U1 I I99 U T 9919 IR BRI H Il Bis I [931 SURRd T8t 82

Options :

1. % IARA gWH
2. % gEC W
3. ¢ JITRE BT




4, % AR IR

Question Number : 104 Question Id : 7532295367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who defined sociology as the abstract and theoretical science of social phenomena ‘subject to natural and invariable laws, the discovery of which
is the object of investigation’?

Options :

1. % Herbert Spencer
2. % Aristotle

3. ¥ Emil Durkheim
4. ¥ Auguste Comte

Question Number : 104 Question Id : 7532295367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied o 9 forem, TroRRa B e aleerst wiefad 8k srafkad-ta ot & siefF, fSrae! Wie o &1 35%a §', & S
3R Vgifasw fagm & Tu & uRuifdd fear g2

Options :

1. % go¢ WWR
2. % 3

3. % TS gEd

4. AR pT

Question Number : 105 Question Id : 7532295368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Founding Father of Indian Sociology?
Options :

1. # Mahatma Gandhi

2. ¥ Govind Sadashiv Ghurye

3. ¥ Jyotiba Phule



4. % SC Dubey

Question Number : 105 Question Id : 7532295368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR JHISTIRG BT WIS Seb Hfeirad & ¥ fard 71 o 82
Options :

1. % HGIHT e

2. ¢ TNifde e g3d

3. % SIfdE B

4. % TqH gd

Question Number : 106 Question Id : 7532295369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following is an Indologist?
Options :

1. ¥ Govind Sadashiv Ghurye

2. % Max Weber

3. ® Karl Marks

4. % Auguste Comte

Question Number : 106 Question Id : 7532295369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol # 9 o yRd fo=n faivg 82
Options :

1. ¢ Tfde garra ga

2. % TF IR

3. % Pl IR

4. % JRC BT



Question Number : 107 Question Id : 7532295370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1873, who started Satya Shodhak Sama;j (Truth-Seeking Society) with the aim of securing social justice for the weaker sections of society?
Options :

1. ¥ Jyotirao Govindrao Phule

2. # Govind Sadashiv Ghurye

3. ¥ Swami Dayanand Sarsawati

4. % Swami Vivekananda

Question Number : 107 Question Id : 7532295370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUTS & HHOIR T o fore JTATioies =T B1RYd 6 & IeRd ¥ 1873 H ufafad & 3 fruq, I Mes JHS (T &1 WIS B34 aTel
HHTST) T YRS Bt &1

Options :

1. ¢ SR MidaRd o

2. % TMfde YaIRE A

3. % W GG TRl

4. % Wl fageHg

Question Number : 108 Question Id : 7532295371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Arya Samaj movement was an outcome of a reaction to Western influences. The founder of the movement rejected Western ideas and sought
to revive the ancient religion of the Aryans. Who was the founder of the movement?

Options :

1. ¥ Mulshanker

2. # Charu Majumdar

3. % Jyotirao Govindrao Phule

4. % Swami Vivekananda



Question Number : 108 Question Id : 7532295371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TS 3ffqe ufddt guTal &1 ufafehar &1 Ui o7 | gl & JRiTue = Ui foaRl & srdierd & faar 3R smaf & urdi= o«
&I GITad B B g [T | 3 3figiad & TRITIH P U2

Options :

1. ¢ YARDR

2. % T AHGR

3. % SIfoRra MdeRd Bl

4. % WM fadeHg

Question Number : 109 Question Id : 7532295372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who led the Self-Respect Movement?
Options :

1. ¥ Ramakrishna Paramhansa

2. % EV Ramasami Naicker

3. % Jyotirao Govindrao Phule

4. % Swami Vivekananda

Question Number : 109 Question Id : 7532295372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH-JHM 3Higie &l Agad FaferiRad & 9 fog- favar um
Options :

1. % JHPW RAGY

2. ¢ Sat AHRATHT AIHY

3. % SIfRIG Midexid ol

4. % i fddsig




Question Number : 110 Question Id : 7532295373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the ‘All India Kisan Sabha’ adopt its manifesto?
Options :

1. % 1936

2. % 1946

3. % 1956

4. % 1926

Question Number : 110 Question Id : 7532295373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3RS R fh AT FHT = ST GINUITYE i S SUIT Y12
Options :

1. % 1936

2. % 1946

3. % 1956

4. % 1926

Question Number : 111 Question Id : 7532295374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Andhra Provisional ryots' Association was started in:
Options :

1. ¥ 1928

2. % 1982

3. % 1828

4. % 1882

Question Number : 111 Question Id : 7532295374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ty SfaH Yad 9u (Andhra Provisional ryots' Association) Pl R[e3Id hd E_'it oo
Options :

1. ¥ 1928

2. % 1982

3. % 1828

4. % 1882

Question Number : 112 Question Id : 7532295375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1926-27, the Kisan Sabha was formed in which of the following states?
Options :

1. # Punjab, Bengal, Uttar Pradesh and Jharkhand

2. ¥ Punjab, Bengal, Uttar Pradesh and Bihar

3. ¥ Punjab, Bengal, Haryana and Bihar

4. # Punjab, Rajasthan, Uttar Pradesh and Bihar

Question Number : 112 Question Id : 7532295375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad o 9 ford I T 1926-27 T T QT &1 T84 fosa T T
Options :

1. % UolTe, STTTd, STR TS 3R 3IRWES

2. ¢ TSI, §7TTd, JTR USSR fagR

3. % UGS, STTa, Ao SR fagR

4. % TS, IO, IR YT 3R fagR

Question Number : 113 Question Id : 7532295376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In his famous book ‘Modernization of Indian Tradition’, who made an attempt to analyse the process of modernization in India from a systemic
sociological perspective?

Options :

1. * Narendranath Datta

2. % Acharya Narendra Dev

3. % Shri Narayan Guru

4. ¥ Yogandra Singh

Question Number : 113 Question Id : 7532295376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 forem, 3ot TG e HISA13oIRM 31 8T ¢SXM H URA H SMYFDHIHRUl &I UishdT o1 HarRUd THISRIRATT
aRied 3 fa=eoor - &1 v fohar g2

Options :

1. % gAY &

2. % M R 3

3. % 4 RIS

4. ¢ Oiig Rig

Question Number : 114 Question Id : 7532295377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Theories can be used to create a testable proposition”. How can we term this situation?
Options :

1. # An explanation

2. % A hypothesis

3. % A Collected Sample

4. % An analysis

Question Number : 114 Question Id : 7532295377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



"Rgidl &1 IUTRT uierur Qg ufdure fAfifa s & fo fosar o Iwar 8 | 8H 39 UG &1 frg YR ad &1 Ihd &2
Options :

1. % Tch WPIHI]

2. ¢ U UN&HA

3. % T Yobferd fagf

4. % T fa=eivor

Question Number : 115 Question Id : 7532295378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In sociology, which type of theories relate to large-scale issues and large groups of people?
Options :

1. ¥ Macro-level theories

2. # Micro-level theories

3. % Grand theories

4. % (Classic theories

Question Number : 115 Question Id : 7532295378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

USRI & fhg YR & Rigid sas Wk & e, 3R afaqdl & 9 gl ¥ Yefdd 8ld /2
Options :

1. ¥ 98-y Rigid

2. % g Wiy fRigia

3. % Hel fgld

4. % QA Rigia

Question Number : 116 Question Id : 7532295379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"An attempt to explain large-scale relationships and answer fundamental questions" is considered under:



Options :

1. ¥ Grand theories

2. # (lassical theories
3. % Perspective theories

4. % Macro theories

Question Number : 116 Question Id : 7532295379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YA R Iaf DI T HX, 3R Jayd U4 & SR o &1 Ty FufaRad & 9 g siavia il g2
Options :

1. v T g

2. % YA Rigid

3. % URUey Rrgid

4. % qgq figid

Question Number : 117 Question Id : 7532295380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When philosophical and theoretical frameworks are used within a discipline to formulate theories, generalisations and the experiments performed
in support of them is/are known as:

Options :

1. % Theory

2. ¥ Paradigms
3. % Approach

4. % (lassification

Question Number : 117 Question Id : 7532295380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s Rygicl, Frrdtexun 3R 37 THeH H fobu Tu vt 1 ufaurfed o & for ues fawa & i ok Ssifds wu Xarsff &1
ST faa S &, df 59 fafoRad & @ o = i Sira g2




Options :

1. * fagia

2. ¢ YidHH

3. % 3UNTH

4. % qiieRur

Question Number : 118 Question Id : 7532295381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A proposed explanation about social interactions or society is known as:
Options :

1. # an Approach

2. ¥ a Theory

3. % a Hypothesis

4. ¥ a summary

Question Number : 118 Question Id : 7532295381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Sidforaratt a1 IHTe & §R H U URaTfdd SIReAT $1 1 HgT STl 672
Options :

1. # U SUNTH

2. ¢ T ¥id

3. % T URBeUH

4. % TP IR

Question Number : 119 Question Id : 7532295382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Under the theory of 'labour aristocracy', there is a class antagonism within the working class itself; the antagonism is between:
Options :



1. ¥ the most exploited strata and the privileged layer
2. # the less exploited strata and the privileged layer
3. % the privileged layer and the capitalist society

4. % the privileged layer and the exploited strata

Question Number : 119 Question Id : 7532295382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'3 ST AT & Rigid & Siaid, 4 a7l & iR 81 U ol faRiY Biehl §; g fokiy Fwiferd & 9 e wea gt 82
Options :

1. ¢ Fai® M TR R ORISR ured &t

2. % HY M TR MR fARWIiYSHR ured avf

3. % TR U TR 3R Yoflare garst

4. % ORISR U W SR MV TR

Question Number : 120 Question Id : 7532295383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The exchange of labour power between the labourer and the buyer should be based on
Options :

1. # economic position

2. ¥ equal rights

3. # Jocal government rules

4. ® society

Question Number : 120 Question Id : 7532295383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i SR shell & dd yH Wik 1 fafrea Fafefad 3 9 fog w snuia gr amfew
Options :

1. % Infife fufy



2.« JHM HYBR
3. % QY WHRI HaH
4. % A
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Question Number : 121 Question Id : 7532295384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following theories emphasises the role of coercion and power in producing social order?
Options :

1. # Functionalist theory

2. % Feminist theory

3. ¥ Conflict theory

4. % Symbolic theory

Question Number : 121 Question Id : 7532295384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ o a1 Rigia Immfsre e & fFufor & Iafts Sk wfdd &t yftrer R sa Targ?
Options :

1. % YpRiarg! Rigid

2. % fardl Rygid

3. ¢ oy Rygid

4. % YT Rigid

Question Number : 122 Question Id : 7532295385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a major framework of sociology theory that focuses on the symbolic meaning that people develop and rely upon in the
process of social interaction?

Options :

1. # Critical theory

2. ¥ The symbolic interaction perspective/theory
3. % Ladling theory

4. # Social learning theory

Question Number : 122 Question Id : 7532295385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied o 9 o9 W, TaeRRd RIgid &1 T THE =l § off 39 Udididd 31 IR bisd g f& d ammfses sidfchar o uferar o
faepRyd gId § iR Y W AR BId 82

Options :

1. % ggayul Rgia

2. ¢ YdidbTdD 3fdishar uRved/Rigid
3. % dsfe &1 Rigia

4. % grToIS e &1 Rgia

Question Number : 123 Question Id : 7532295386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following theories developed by Emile Durkheim describes how social order is possible and how society remains relatively stable?
Options :

1. ¥ Functionalist perspective/theory

2. % Critical theory

3. # Feminist theory

4. # Liberal theory

Question Number : 123 Question Id : 7532295386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ZARA guEH gRI fawRid Fafafad # § o W1 Rigid 39T 90 &Rl § 6 IHIfoe g oy UdR THa § 3R JHTS fhd TR
3T d fRR TBa1 82

Options :

1. ¢ Uobrdardl uRued/Rigid

2. % HgaqYl Rrgid

3. % ARard! Rigid

4, % JeRdmard! Rgid

Question Number : 124 Question Id : 7532295387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following theories is one of the most important approaches to understanding deviant and criminal behaviour?
Options :

1. # Critical theory

2. % Labelling theory

3. ¥ Fundamental theory

4. % Functional theory

Question Number : 124 Question Id : 7532295387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea & @ o 1 Rigid faafd ok RIS soagR &1 9w & il Te Je9 Ayl Iurm g2
Options :

1. % Agayul gl

2. ¢ A9 &1 gl

3. % Aifere Rigid

4. % THTED Rigid

Question Number : 125 Question Id : 7532295388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Payment of Bonus Act was passed in which year?
Options :

1. % 1975

2. % 1865

3. ¥ 1965

4. % 1985

Question Number : 125 Question Id : 7532295388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 YA i fog oy # arfed foar mar



Options :
1. # 1975
2. % 1865
3. % 1965
4, % 1985

Question Number : 126 Question Id : 7532295389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following sociologists covered all the dimensions of caste and religion prevailing in the society?
Options :

1. ¥ Mysore Narasimhachar Srinivas

2. # Jawaharlal Nehru

3. % Swami Radha Krishnan

4. ¥ Raja Ram Mohan Roy

Question Number : 126 Question Id : 7532295389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafeaa # 3 forg g 3 gae § yafad sifa ok of & g sl & gemafRig fasan ur
Options :

1. ¢ TR RRAETR Hfram

2. % JATERAd g%

3. % WH AYHUH

4. % ST HHIGA T

Question Number : 127 Question Id : 7532295390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ontology deals with which part of sociological questions?
Options :



1. # Do you know
2. ¥ What you know
3. % Known to all

4. ¥ How do you know

Question Number : 127 Question Id : 7532295390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT, SHSTRIRET Ut & Fafarad § 3 g 1m 9 deft g
Options :

1. % 1 39 T §

2. ¢ O 3T A &

3. % B Aa R

4. % 3 fhyg YHR S &

Question Number : 128 Question Id : 7532295391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A systematic process of inquiry applied to learn something about our social world is termed as:
Options :

1. # action research

2. # study method

3. ¥ research method

4. ¥ subject matter

Question Number : 128 Question Id : 7532295391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR YIS ST & SR H $3 S & ol Ugad S &1 U aiyd Uishdl a1 dHedd 82
Options :

1. % foharcTer I




2. % Y9 Ugfd
3. ¢ AU UG
4. % fqugayg

Question Number : 129 Question Id : 7532295392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When we make observations without any systematic process for observing or assessing the accuracy of what we observed, it is known as:
Options :

1. ¥ informal observation

2. # selective observation

3. % research methods

4. % authority

Question Number : 129 Question Id : 7532295392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁ@&mﬁ%ﬁsﬁﬁq&wwaqm‘mﬂmﬂmiw P & fort fopdt sgafa ufshan & foAT sradied ovd 8, 1 33 o1 FHel oIl
0

Options :

1. ¢ SFEIR® Saaid-

2. % FUAIHSD B

3. % 3HYM Ygiagi

4. % 4l

Question Number : 130 Question Id : 7532295393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When we assume that broad patterns exist even when our observations have been limited, it is known as:
Options :

1. # under-generalisation



2. ¥ over-generalisation
3. % categorisation

4. % Keen observation

Question Number : 130 Question Id : 7532295393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e §H A & o 89N g Tifd 811 IR+ U U Iufyd &, o) 39 fRufefaa # @ o1 w1 Srar 82
Options :

1. % 3cY-HHIHRT

2. ¢ 3ffd-FHRIIBRT

3. % Jufieprur

4. % ORI 3raciih1

Question Number : 131 Question Id : 7532295394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sometimes, people in India seem to be more loyal to their respective religions than to their nation. This religious diversity has been a factor and
source of:

Options :

1. ¥ disunity and disharmony in the country
2. # unity and harmony in the country

3. ® diversity in the country

4. % unity and diversity in the country

Question Number : 131 Question Id : 7532295394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HH-BH, YR H T 30 Y BT UM 3U-30 Y o Ul 3ifes FTam uedid 81d &1 I8 unfifes fafdud Fafafed & 3 fewd e
HRS 3R A B! &7

Options :

1. ¢ S ¥ fayg iR SryTHSRan




2. % Y H UHdl 3R Tgrd
3. % IR H fafgean
4. % S H UhdT 3R fafdear

Question Number : 132 Question Id : 7532295395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hinduism believes in the doctrine of:
Options :

1. # non-idol worship

2. ¥ rebirth and immortality of the soul
3. % Lord Mahavir

4. % Lord Buddha

Question Number : 132 Question Id : 7532295395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feg oo Fafafed & 9 foy Rigia & fay srars?
Options :

1. % TRAfd gor

2. ¢ TG 3R SATAT BT SR

3. % YIGH HETAR

4. % YWEH §&

Question Number : 133 Question Id : 7532295396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the founder of ‘Sikhism’.

Options :

1. ¥ Guru Nanak

2. % Guru Govind



3. # Guru Teg bahadur
4. # Guru Angad

Question Number : 133 Question Id : 7532295396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG el & TP HH |

Options :

1. ¢ & 9D

2. % T Ifdg

3. % T3 TV §8IgY

4. % T 371G

Question Number : 134 Question Id : 7532295397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the names of the following Sikh gurus in chronological order starting from the founder guru of the Sikh Dharam.
Options :

1. ® Guru Ram Das, Guru Nanak Dev, Guru Angad, Guru Amar Das

2. % Guru Amar Das, Guru Nanak Dev, Guru Angad, Guru Ram Das

3. % Guru Nanak Dev, Guru Angad, Guru Amar Das, Guru Ram Das

4. ® Guru Angad, Guru Amar Das, Guru Ram Das, Guru Nanak Dev

Question Number : 134 Question Id : 7532295397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied Rra Tesif & i &1 g o & TRITTS T3 W TRY HRd §U BIAMIDHH HH H Sgaryd He |
Options :

1. % T3 M G, T3 b ¢, To 37Ta, T 3R &

2. % T[F TR TN, T AHP ¢d, T 37, TS IH TN

3. ¥ T3 M 34, T3 371G, T3 3R G4, 7% IH &




4. % T3 3G, o 3R G, T3 YW G, T3 1 od

Question Number : 135 Question Id : 7532295398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who published the book ‘Religion and Society among the Coorgs of South India’?
Options :

1. # Mahatma Gandhi

2. ¥ Mysore Narasimhachar Srinivas

3. % Radha Krishnan

4. % Swami Vivekananda

Question Number : 135 Question Id : 7532295398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYefior U TrRmget o & Hwf offth wrsy Efear Ame T fFafafad # § feue! T g2
Options :

1. % HGTAT e

2. ¢ IR RRTETR it

3. % YYTpWq

4. % W fadeTig

Question Number : 136 Question Id : 7532295399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Durkheim experimented on the simplest form of religion by using which of the following methods of indirect experimentation?
Options :

1. ¥ Totemism

2. # Survey

3. # Fieldwork

4. % Synopsis



Question Number : 136 Question Id : 7532295399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A fafefed o @ e s T gsfd &1 U ovd gU 46 & IRadd &0 R TN fbam
Options :

1. ¥ TeHdlg

2. % Fd&ur

3. % Bleghrd

4. % gR-IUT

Question Number : 137 Question Id : 7532295400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to , society consists of two parts — the sacred and the profane.
Options :

1. # Auguste Comte

2. % Karl Marks

3. ¥ Emile Durkheim

4. % Max Weber

Question Number : 137 Question Id : 7532295400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% OR, GEW H & T B § - Ufd oK srufe|
Options :

1. % 3R DI

2. % PHIdl AR

3. ¢ ZATZA gWH
4. % TR IR



Question Number : 138 Question Id : 7532295401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The critical analysis of religion through Mysore Narasimhachar Srinivas's lens is based on:
Options :

1. % kinship

2. % family

3. ¥ society

4. % institution

Question Number : 138 Question Id : 7532295401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR RRAERER Hfarg & =DH0 I urf o1 sreerets fazawor Rafafed o @ frg w snamfia g2
Options :

1. ¢ AdER!

2. % URAR

3. % HHN

4. % g

Question Number : 139 Question Id : 7532295402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who stated, "Marriage is a social arrangement by which a child is given a legitimate position in the society determined by parenthood in the
social sense"?

Options :

1. # Malinowski

2. ¥ Radcliffe-Brown
3. % Westermarck

4. # Horton and Hunt

Question Number : 139 Question Id : 7532295402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gg i # 3§ frae oy g 1, 'faate te amiioie saawiT § fSgd gRT gmiie e # Tarel # et 5= ol sifiHTasar gRT
i Jy fufa uem ot S 8"

Question Number : 140 Question Id : 7532295403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anthropological studies of marriage have brought out:
Options :

1. ¥ complex marriage systems

2. # arrange marriage system

3. # Inter-cast marriage systems

4. % destination marriage systems

Question Number : 140 Question Id : 7532295403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faaTe & AR sreaaHl § Fafefad & & e ufauried fovar mar g2
Options :

1. ¢ e faarg sHaRmg

2. % g faarg sga=imy

3. % SfASTiad faarg qaRITg

4. % Tiqey foarg IarIU
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Question Number : 141 Question Id : 7532295404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following types of marriage does a woman marry a superior or an equal? In this type, a man should NOT marry a woman of
higher status than himself.

Options :
1. * Hypogamy marriage

2. ¥ Hypergamous marriage



3. # Simple marriage

4. % Complex marriage

Question Number : 141 Question Id : 7532295404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiea # § frd R & faare & te uied Wd I 98 1 9 I ¥ fadrg &l 82 39 R & faare & 4oy & o ¥ 3= ufRufd
qret! il ¥ faarg 1l dH=1 Arfe T

Options :

1. % giqen# faarg
2. ¢ 3 faarg
3. % IR faarg
4. % i faarg

Question Number : 142 Question Id : 7532295405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In classical Hindu ideology, the bride is considered as a:
Options :

1. ¥ Gift

2. % Object

3. #® Dasi

4. % Person

Question Number : 142 Question Id : 7532295405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R g FAaRYRT (classical Hindu ideology) & 3FIER, aY &1 FHRfRGd & I 1 AT SITdl 82

Options :
1. ¥ 3UgR
2. % 9y



3. % gt
4. % Hfad

Question Number : 143 Question Id : 7532295406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most basic institution in any society, which is also a group of people related or connected by bloodline, marriage
rite or adoption?

Options :

1. # universities
2. % School

3. ¥ group

4. ¥ Family

Question Number : 143 Question Id : 7532295406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed o @ & I, et gus & g9 STYRYd TRT 3, S Iqadadl, daTfed TWhR a1 1M o & gRT ISR J&fid a1 §9 safaaal
1 g BIell 87

Options :

1. # fayfoerey

2. % fagre™

3. % {g

4. ¢ URAR

Question Number : 144 Question Id : 7532295407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of social group do the members share common residency to live together.
Options :

1. # Ashrams

2. % Social institutions



3. % Families
4. % Crowd

Question Number : 144 Question Id : 7532295407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol THR & MRS T4 H Uew UH ol Ha RIF IR U6 1Y I8d 67
Options :

1. % 3{1%H

2. % AT TR

3. ¢ URAR

4. % g

Question Number : 145 Question Id : 7532295408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sociologists and anthropologists have distinguished the nuclear family into two broad categories. These are:
Options :

1. # one parent family and both parent family

2. ¥ natal family and conjugal family

3. # extended family and blended family

4. % compound family and complex family

Question Number : 145 Question Id : 7532295408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTSIRNRAAT 3R HHARMRe! - UhIdh! URAR &1 &l rad Aor # fquiford fasar g1 3 fafefed & 9 & 9 g2
Options :

1. % TH UGS aTe IRAR 3R & AHUTISH arar aRaR

2. ¢ UJ® URER 3R darfes® IRaR

3. # foxaria uRar 3R fAfeg ufvar




4. ® Igad URAR 3R Sfed gRar

Question Number : 146 Question Id : 7532295409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an , a beautiful arrangement of understanding between a couple exists where the power and decision-making authority are equally
distributed between the husband and wife.

Options :

1. ¥ Egalitarian Family
2. % Matriarchal Family
3. # Patriarchal Family
4. % Joint family

Question Number : 146 Question Id : 7532295409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH A U QT & oI IRIURS T B U Yo TR 8! ¢ o8l Afaad 3R o a1 & fYeRI &1 ufd 3iR Ul & s
T ¥4 ¥ fquiford fosar Srar g |

Options :

1. ¢ GHAAE URAR
2. % HIJYAIHSD URAR
3. % fUgEards URaR
4. % Yo URAR

Question Number : 147 Question Id : 7532295410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a particular/specific term used by sociologists to describe the system of social standing, to the categorisation of its people into rankings
of socioeconomic tiers based on factors like wealth, income, race, education and power.

Options :
1. ¥ Primogeniture

2. # Meritocracy



3. % Social Stratification

4. ¥ Exogamous Union

Question Number : 147 Question Id : 7532295410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TfRUTT ot HIRIT BT qu B & ot FHTSN) gRT U favy / Ay ve BT ST fopaT SiraT g, St Tufxy, 31,
T, e SR wfad 3Mfe PRSI & YR TR AfFTaT & TSR3 b TRI H 0BT Bl <2iar gl

Options :

1. % UPMYDBR

2. % TUICH

3. ¢ IS TRIHRT
4. % gfgfdarsl du

Question Number : 148 Question Id : 7532295411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the social stratification system, which of the following is based on both social factors and individual achievement?
Options :

1. # The caste system

2. ¥ The class system

3. % The religion system

4. # The social system

Question Number : 148 Question Id : 7532295411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IO TRIGHROT Bt gurTent H, Faffed § 3 oF, e SR®! & Ary-91y Afaaid suaierdl W o sremd gidt g2
Options :

1. % ST oo

2. ¢ T AR



3. % Yy IR
4. % AT ORI

Question Number : 149 Question Id : 7532295412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the type of system in which people are born into a social standing that they will retain their entire lives.
Options :

1. # Class system

2. ¥ Caste system

3. % Social system

4. # Culture system

Question Number : 149 Question Id : 7532295412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad o I fog yeR o) soaw & aafad T Imrfoie IfRUTT & 1 o7 dd @ Sl S SitaTud=d s+1 T84t 82
Options :

1. % g g

2. ¢ ST STaRT

3. % GHTSTh a7

4. % Gikpiddh HIRT

Question Number : 150 Question Id : 7532295413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The consistency of an individual’s rank across social categories like income, education and occupation Is known as:
Options :

1. # wealth

2. # land and assets

3. # social economic status



4. ¥ status

Question Number : 150 Question Id : 7532295413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A0t o o o1, e SR e ofe o foeft safad ot 4ot 31 FAaRar 1 fovd AT 8 S el 62
Options :

1. % ofd

2. % yyfiy oI oRR

3. % g Snfdies Uit

4.+ GRAYTd

Question Number : 151 Question Id : 7532295414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the value of money and assets a person has from inheritance.
Options :
1. ¥ Wealth
2. # Health
3. # arrogance
4. % Land

Question Number : 151 Question Id : 7532295414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 ¢ 3R Ul &1 e HEATA & Sl [ fad I ITRIYBR H U Bt g
Options :

1. ¢ ufd

2. % WY

3. % T4

4. % @




Question Number : 152 Question Id : 7532295415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If wealth was passed from generation to generation, a law stating that all property would be inherited by the firstborn son or next to closest male
relation, and women could not inherit property, and her social standing was only determined through marriage by her in-laws and her husband .

Options :

1. ¥ Through primogeniture

2. % Through grandfather

3. % Through great grandfather
4. ® Through dowry

Question Number : 152 Question Id : 7532295415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yifed! & ot Jufl & SIRIYBR I HafId T ST & AHTIR TH Hqﬁruwaﬁgaml-wcw q&y et ol I=mT gRT SR

%WW@W&[WH@WHmmSﬁTMWHli—lll\ﬂqﬂr@rﬁrwqm 3% daifees Jafert 3tk 39 ufd & A1y § fRuifa
|

Options :

1. ¥ JFTRNGR & 1898 4§

2. % gl o H1egq 9

3. % TRGIGI & HIEH o

4. % g o WA Y

Question Number : 153 Question Id : 7532295416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“A stratified society is one marked by inequality, by differences among people that are evaluated by them as being ‘lower’ and ‘higher’”. This
definition on stratification was given by:

Options :
1. ¥ Lundberg
2. # Ogburn and Nimkoff



3. % Raymond W Murray
4. ¥ Melvin M Tumin

Question Number : 153 Question Id : 7532295416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Th TRIpdl FHTS SFRGHATSH J, SR &b el SieRT I ot Bl 8, O b gRT FHR' 3R SR & U H edifepd fobar Sirm
" | TR TR g Ui Faferiad # 9 feam & oo

Options :

1.¥ W(Lundberg)
2. % 3fTTeT 3R FArpTH (Ogburn and Nimkoff)

3. % s 3@1@ (Raymond W Murray)
4. % Tfedd 0 <GB (Melvin M Tumin)

Question Number : 154 Question Id : 7532295417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to , social factors are responsible for the emergence of different social strata, that is, social stratification.
Options :

1. # Sorokin

2. ¥ Karl Marx

3. % Spengler

4. # Davis

Question Number : 154 Question Id : 7532295417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& TR, fafid TrHTioTe Wi Srfd ARG WRIHRUT & fAHhT & Tt qrTfors SR SURar! 8l 6 |
Options :
1. % GRIfb
2. ¢ T AR



3. % WER
4. % Sfag

Question Number : 155 Question Id : 7532295418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Individuals who identify with a sex that is different from their biological sex are called:
Options :

1. % masculine

2. % feminine

3. % transgender

4. % ynisex

Question Number : 155 Question Id : 7532295418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Sifdes fofvT & et o1 & uga U A aTal Aol &l fAaforiad & 3 o1 g oIl 62
Options :

1. % Urey

2. % 9@

3. ¢ faudidfeit

4. % gl

Question Number : 156 Question Id : 7532295419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When sexual interest and attraction develops in a person to others, and their capacity to have erotic experiences and responses also increases, it is
known as:

Options :
1. # bisexuality
2. ¥ human sexuality

3. # homosexuality



4. % unisexuality

Question Number : 156 Question Id : 7532295419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oTd fopedt aafaa & o 3 Tifa a1 Sifirefer 3R SiTeyur fasRid 81 STl &, SiR S SHd SR Ufafehar a3 &1 3T amrar o 9 ot
2, 1 S8 1 e Il 2
Options :

1. % fgcifirear

2. HHA AR
3. % gAAMGAT

4. % IHTARGAT

Question Number : 157 Question Id : 7532295420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘To maintain the unity and integrity with a composite culture’ is the beauty of:
Options :

1. * Society

2. % Europe

3. % State

4. ¥ Indian society

Question Number : 157 Question Id : 7532295420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSR YUT TeBTd & AT ThdT 3R SREST ! 1Y TG faraapl 07 82

Options :
1. # AN
2. % U

3. ® Y




4.« YRAT 9

Question Number : 158 Question Id : 7532295421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indian society is a blend of the areas where the poor and the rich live side by side.
Options :

1. # rich and poor

2. % urban and rural

3. % old and young

4. % Black’s and white’s

Question Number : 158 Question Id : 7532295421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URA AN & o1 fhreyor 8 ot e ok ot v r 3ea B
Options :

1. % gt SR e

2. ¢ B R Tty

3. % gg 3R gar

4. % 397 IR &d

Question Number : 159 Question Id : 7532295422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is based on democracy, secularism and socialism.
Options :
1. # Indian Society
2. % Indian Republic
3. # Indian Culture

4. % Indian Season



Question Number : 159 Question Id : 7532295422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i, GYfRRUET 3R FHISEIE TR SR B |
Options :

1. % HRdG gHTS

2. ¥ YR TURTY

3. % YR Ipid

4. % YR AH

Question Number : 160 Question Id : 7532295423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the process of nation building, what has become vital due to the multiplicity of languages, castes, creeds, religions and identities?
Options :

1. # International integration

2. # Unity

3. % Religion

4. ¥ National integration

Question Number : 160 Question Id : 7532295423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yroTait, e, v, ¢t iR U Y agardr & wRur, 1y fAutor wt vfgsar o fuferiad & @ sifie dgayul a9 T ge
Options :

1. % SRS Tl

2. % Udhdl

3. % 4if

4. ¢ TP THIBUT
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Question Number : 161 Question Id : 7532295424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the goals of a State?
Options :

1. ¥ Law and governance
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2. # Education only
3. # Health sectors

4. # Transport only

Question Number : 161 Question Id : 7532295424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RTSY 1 & T Bl 82

Options :

1. ¢ BT 3R =

2. % ohad fRraf

3. % WY &

4. % Had YRdg

Question Number : 162 Question Id : 7532295425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The application of sociological concepts and methods to the analysis of the production, distribution, exchange and consumption of goods and
services is known as:

Options :

1. # Political Sociology

2. # Fundamental Sociology
3. % Economic Sociology

4. % Urban Sociology

Question Number : 162 Question Id : 7532295425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a3t 3R Farsif & e, faarur, fafma 3R IuHINT & fazayr & fore THeRIRE S/ayRumat SR fAfat &1 Syt 71 SHeardi 82
Options :

1. % I[SIdD FHSIRIRG

2. % TIfeTe THTOIRIRA




3. « 3TTfp TUISTRIRA
4. % TR JUTST

Question Number : 163 Question Id : 7532295426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did Economic Sociology experience a remarkable revival?
Options :

1. ¥ In the 1980s

2. % In the 1880s

3. % Inthe 1970s

4. % In the 1870s

Question Number : 163 Question Id : 7532295426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 THTSIRIRG H for 3fafd & SR U HeYUl THoGR ST 7T Y12
Options :

1. ¢ 1980 o GR1P I

2. % 1880 o a¥P H

3. % 1970 & q¥d H

4. % 1870 % oRP H

Question Number : 164 Question Id : 7532295427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which branch of sociology analyses economic phenomena such as markets, corporations, property rights and work using the tools of sociology?
Options :

1. # Demographic sociology

2. ¥ Economic sociology

3. % Rural sociology



4. # Urban sociology

Question Number : 164 Question Id : 7532295427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTOIRIRG Bt fFEfRyd & 9 S 3t IRAT FHTSRIRG & JUHRUI 61 SUAN F3d g AT gersii o fob aoiR, A, dufa &
RIPRY, 3R BT T fIzawor el 82

Options :

1. % SHifrd THSTRIRG
2. ¢ 3T qHSIRRA
3. % Yo GHTSRIRE
4. % TRIY JHSIIRA

Question Number : 165 Question Id : 7532295428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following focuses on the relationship between social behaviour and economics?
Options :

1. # Family economics

2. % Social economics

3. # Education economics

4. % World economics

Question Number : 165 Question Id : 7532295428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 3 ®F 91, I agR SR iRIRd & o9 el IR dHigd g2
Options :

1. % UIRaRe =i

2. IS SHYRIRA

3. % fRiefm e



4. % 3P 3rfzrd

Question Number : 166 Question Id : 7532295429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a form of human association distinguished from other social groups by its purpose, the establishment of order and
security, and its sovereignty?

Options :

1. ¥ The state

2. % The world
3. ® The society
4. % The locality

Question Number : 166 Question Id : 7532295429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & § ®1F 91, HTHER T8aN &1 U W g Sl 30 I£3, STTRIT 3R FREM Pt RITIAT 3R 3O YT & YR W 3
qrTore Wig! ¥ fanfed g2

Options :

1. ¥ Y

2. % fay

3. #% U

4. % QYEA

Question Number : 167 Question Id : 7532295430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A means by which the exchange of goods and services takes place as a result of buyers and sellers is known as:
Options :

1. ¥ market

2. # home

3. % family



4. * institution

Question Number : 167 Question Id : 7532295430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el 3R fagharsit % IR for e AT & gRT awgaft STR Jarafi &7 SHTeH-UeH gidT 82
Options :

I ACININ

2. % W

3. % ORAR

4. % g

Question Number : 168 Question Id : 7532295431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The birth of economic sociology can be found in the writings of:
Options :

1. ¥ Max Weber

2. ¥ Karl Marx

3. % Herbert Spencer

4. ¥ Auguste Comte

Question Number : 168 Question Id : 7532295431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T THTSIRIRA &1 5 fhder gRT faRad wiaal § urar o bl g2
Options :

1. % A9Y dR

2. ¢ HTd HIR

3. % A WW

4. % IR BT




Question Number : 169 Question Id : 7532295432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karl Marx made it his mission to combat which of the following legacies in Germany?
Options :

1. ¥ GWF Hegel’s idealism

2. % Weber’s idealism

3. % Emile Durkheim’s ideology

4. % Gandhian ideology

Question Number : 169 Question Id : 7532295432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT AT = Tt H Fufefed # 3 forg Rt & foreg oy &3 &t g1 fireme o= formm am
Options :

1. ¢ ol S&g.UW. §I7d &1 JHTeRialg

2. % IR P SMERAIg

3. % U QWA & [TaRYURT

4. % Tidiard} foeReRT

Question Number : 170 Question Id : 7532295433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Deductive research is also known as:
Options :

1. # one-o-one research

2. # back-to-back research

3. % theory-testing research

4. # general research

Question Number : 170 Question Id : 7532295433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AT SR & forg g A8 ot ST ST /2
Options :

1. % Uhdh STHUH

2. % R Y™

3. ¢ TIid TRigon S8y

4, % JHAY ATHYUT

Question Number : 171 Question Id : 7532295434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inductive research is also called:
Options :

1. # population building research

2. % constructive research

3. # simple research

4. ¥ theory-building research

Question Number : 171 Question Id : 7532295434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STTHATH SR B! [ 3= 1 & Ht ST STt 52
Options :

1. % S AT srHY™

2. % TIATHD AU

3. % IR TAYH

4. « Tygid fAamo srgeea™

Question Number : 172 Question Id : 7532295435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which type of sample does every person in a population have the same chance of being chosen for the study?
Options :

1. # Purposive sample

2. # Fieldwork sample

3. % Random sample

4. % Case study sample

Question Number : 172 Question Id : 7532295435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TR & Ufae™ & 3reaa & SR & YA Afad & g o BT JHM 3wk gidl 87
Options :

1. % Tgewy ufaes
2. % Bicepr Ufdeg!
3. ¢ grefase ufaest
4. % HY AT Ufaef

Question Number : 173 Question Id : 7532295436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Research data collected in numerical form that can be counted and that are easy to tabulate is termed as:
Options :

1. ¥ quantitative data

2. # qualitative data

3. # collected data

4. ¥ manipulated data

Question Number : 173 Question Id : 7532295436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS WY H Y ford I 3fidhs, forg [T o Uahdl § 3R forg IRufiag &1 TR gidl 8, 71 Hadld 82




Options :

1. ¢ AETHS 3idbo
2. % UMD Hibg
3. % Hopfod sfids

4. % YPHIerd g

Question Number : 174 Question Id : 7532295437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a one-on-one conversation between the researcher and the subject, a way of conducting surveys on a topic that is similar to asking short-
answer questions on surveys is known as:

Options :

1. # an experimental method
2. % an interview method

3. % aproject method

4. # a survey method

Question Number : 174 Question Id : 7532295437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STHUTIEH Al 3R [T & S - araiar H, fod fawd IR Tdefur a3 &1 a8 diid] ol Hedldl § [oraH Fa&ul & FTHH Y-
JARIT U I O §2

Options :

1. % URNfie ggid

2. FI&THR Ugid

3. % RIS Ugid

4. % AU UG

Question Number : 175 Question Id : 7532295438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hawthorne Effect occurs in which of the following types of research methods?



Options :

1. ¥ Experiment method
2. # Historical method
3. # Project method

4. % Case study method

Question Number : 175 Question Id : 7532295438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad o 9 frd ThR &1 SrIHu™ Ugha & g1 TqTd urn STt 82
Options :

1. ¢ URT® ugfa

2. * UfagiRies ugfd

3. % ORI gfd

4. % HY AT UGl

Question Number : 176 Question Id : 7532295439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a change in one variable coincides with a change in another variable, but does NOT necessarily indicate a connection, it is known as:
Options :

1. # Chi-square

2. % standard deviations

3. ¥ correlation

4. % mean

Question Number : 176 Question Id : 7532295439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aawa?%ﬁtrhaﬁq, 3 TR H yRadH & HuTcht BiaT 3, a1 fordl el o1 SR 1 sifard et gl ol 38 Fafeiad o 4 frg A 9
NGRS IR




Options :

1. % BE- WA
2. % OHP fdaaH
3. ¢ 9% - 99y

4. % A1

Question Number : 177 Question Id : 7532295440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Using secondary data does NOT include direct contact with subjects and will NOT alter or influence people’s behaviours. which of the below is
more suited for the above statement

Options :

1. ¥ Non-reactive research
2. % Reactive research

3. # Active research

4. % Purposive research

Question Number : 177 Question Id : 7532295440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgdiae sims! & IuunT # fovu-cufaqal & Iy Ude Tudh JiRIferd g 8idT 3R g <7 & UagR oI URdfdd a1 UHIfad gl a8
fafied & § &1 91 ¥sg, IWIad B & e 31fie Iugad 82

Options :

Question Number : 178 Question Id : 7532295441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A defined group selected for serving as the subject of a study is known as a



Options :

1. # Group

2. % Population
3. ¥ Mob

4. % Crowd

Question Number : 178 Question Id : 7532295441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH T & [0 & &9 & B Hx & g g T FAfSd Ty o & T U H AT A8
Options :

1. % g

2. ¢ SGE

3.8 g8

4. % g

Question Number : 179 Question Id : 7532295442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is an in-depth analysis of a single event, situation or individual; in this, a researcher examines existing sources like documents and
archival records, conducts interviews and engages in direct observation and even participant observation.

Options :

1. # A survey

2. % An experiment
3. % A case study
4. % A fieldwork

Question Number : 179 Question Id : 7532295442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt wara ge, Rufa a1 cafad o1 T8+ fazaw &; 3O SrduMddl IUdsy Tid! o foh gxaras 3R [RIed sifieral &t o
BT 5, TETDHR TN BT § 3R U Sfaaiich 3R GgHTT faaied 1t Hra1 g |




Options :

1. % gdem

2. % TN

3. ¥ &Y T
4, % Biesd™

Question Number : 180 Question Id : 7532295443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an extension of basic ethnographic research principles that focuses intentionally on everyday concrete social relationships.

Options :

1. # Societal ethnography

2. ¥ Institutional ethnography
3. % World ethnography

4. # Ethnography

Question Number : 180 Question Id : 7532295443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SMTYRYT TGS SFIHU Rigidl &1 U fawR § S ¢ UiTlg ITHIfoTes Saiel TR v dfad |

Options :

1. # graTfores JaIfaRm
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Question Number : 181 Question Id : 7532295444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The extended observation of the social perspective and cultural values of an entire social setting that involves objective observation of an entire
community is known as:

Options :

1. ¥ Ethnography
2. % Anthropology
3. * Endography

4. * Biography

Question Number : 181 Question Id : 7532295444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS YT TATRT URART & FrHTfores URTed 3R Tidiad Hedl o1 [axgd sradid- forad fardt Tquf THer &1 gy s/aard- faar
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Options :

1. ¢ JaxIfaq™

2. % AR

3. % USIUTHI

4. % St

Question Number : 182 Question Id : 7532295445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rothman had conducted a form of study in which researchers joined and participated in a group’s routine activities to observe them within that
context. This is an example of:

Options :

1. # activist observation

2. % participant observation
3. # simple observation

4. ¥ complex observation

Question Number : 182 Question Id : 7532295445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BTGl sads

2. ¢ GfAUTTt sracid

3. % IRA Aqdlp

4. % Sfed gl




Question Number : 183 Question Id : 7532295446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Methodological skills and theoretical skills can be explained briefly in other words as:
Options :

1. ¢ "know-how" and "know-what", respectively

2. #® “know-who” and “know-whom”, respectively

3. # “Not-know” and "all-known”, respectively

4. % “What to know” and “how to know”, respectively

Question Number : 183 Question Id : 7532295446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUITRITT SIRTe 3R Jifaies I o1 Wag § fobT Weat # afofa fvan S weran 82
Options :

1. ¥ SHHT: "o T " 3R e BT [,

2. % U “PHH BT 7 3R "l &1 I,

3. % U “J1d A1 3R "Hd 1A,

4. ® HHY: S JTd P 87 3R “JATd B BT U™,

Question Number : 184 Question Id : 7532295447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a method of collecting data that involves the presentation of oral-verbal stimuli and reply in terms of oral-verbal responses. Under this

method of collecting data, there is a face-to-face contact with the person from whom the information is to be collected. The interviewer asks them
about the survey and collects the desired information.

Options :

1. #® Survey method
2. % Schedule method
3. ¥ Interview method

4. ® Experimental method



Question Number : 184 Question Id : 7532295447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gaem fafy
2. % 3Tyl fafy
3. ¢ &R fafdy
4. % YO fafe

Question Number : 185 Question Id : 7532295448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first step in the development of Gender Constancy is:
Options :

1. ¥ Gender Labelling

2. ® Gender Stability

3. ¥ Gender Stereotype

4. % Gender Consistency

Question Number : 185 Question Id : 7532295448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 7532295449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true regarding Gender?
Options :

1. # It is biologically determined

2. % It is a social construct

3. % It is the same as the sex of the person

4. # It is a numerical concept

Question Number : 186 Question Id : 7532295449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁﬂ(Gender)%WﬂﬁﬁmﬁaﬁqW$%ﬂﬂﬁ%?
Options :

1. % 39&1 YRV Sfds FUA I &

2. ¢ UE T IHINIG 1 8§

3. % g afad & foliT (sex) & THH §

4. % U8 U YATHD HIURUM &

Question Number : 187 Question Id : 7532295450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Malta Broadcasting Authority issue its Guidelines on Gender Equality and Gender Portrayal in the Broadcasting Media?
Options :

1. % 2009

2. % 2011

3. % 2007

4. % 2001

Question Number : 187 Question Id : 7532295450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFrofofed & 9 fra avf & Arcet sTeHReT SiufiRet 3 TRor Hreadt & Wiffes wamar oiR o femror daieht s femfadwr Sk fovwe
Options :

1. % 2009

2. % 2011

3.9 2007

4. % 2001

Question Number : 188 Question Id : 7532295451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When we instruct our daughters to avoid confrontation wherever possible, it ultimately results in
Options :

1. # lack of confidence in neighbours

2. # lack of confidence in boys

3. ¥ lack of confidence in girls

4. # freedom in girls

Question Number : 188 Question Id : 7532295451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® USIRal H fayr &1 Bt
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4. % TS(HTl DI 3OS
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With the help of , gender sensitisation in educational institutes can create awareness among the children, parents and other members of the
community about their roles in future as men and women in the society.

Options :

1. # economy
2. ¥ education
3. % governance
4. # family
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is a product of a subjective perception built to conform to a society in which women have a lower status than men.
Options :
1. # Gender role
2. ¥ Gender stereotype
3. % Gender awareness

4. # Gender parity
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The process of being fair to men and women is termed as:
Options :

1. # gender sensitivity

2. ® gender awareness

3. # gender equality

4. ¥ gender equity
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Girls and women should get rights in their homes and workplaces.



Options :
1. ¥ equal
2. # unequal

3. # less

4. % more
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Ujjawala, a comprehensive scheme for prevention of trafficking and rescue, rehabilitation and reintegration of victims of trafficking and
commercial sexual exploitation, was implemented by:

Options :

1. % Ministry of Human Resource Development
2. % Ministry of Women and Child Development
3. # Ministry of Health

4. ¥ Ministry of Culture and Civilisation
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The Government of India is implementing the scheme Beti Bacho Beti Padhao (BBBP) to improve the
Options :

1. ¥ child sex ratio and for girl child education

2. # child mortality rate

3. # mother-child mortality rate

4. ® boys’ and girls’ education rate
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Development theory has changed over time with changes in and the international environment.
Options :



1. # development
2. ¥ ideology
3. % governance

4. # economy
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When did the use of the term ‘development’ to refer to national economic growth in the United States emerge?
Options :

1. # Late 1950s

2. # Late 1940s

3. ¥ Early 1940s

4. % Early 1950s
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Which of the following is NOT a feature of Globalisation?

Options :

1. # It involves the increasing interconnectedness of different parts of the world.
2. # Itis a spatial metaphor that is often used in the idea of a ‘shrinking world’.
3. ¥ It is a global infrastructure of formal and informal institutional arrangement.

4. % It is a form of cultural and political exchange, movement of people across cultural boundaries.

Question Number : 197 Question Id : 7532295460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # 3 &1 @, It &) e = 761 82

Options :

1. % g% fay & faftd urTl & dgd gu siadey Iffferd 8|

2. % T8 UHh TS FUS ¢ o SR Apa=iia fay & foar & wanT fasar Srar g

3. ¢ T SNUAIR® 3R U=RG TRINT a0y &1 U AfYes 3IaTiReT g

4. % g8 IRPfaw R Aeifae fafma, safaaal & il SHrsii & IR STarTHH &1 U6 ©J g |

Question Number : 198 Question Id : 7532295461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Alvin So, three main historical elements were favourable to the inception of the modernisation theory of development. What was
the period of the developments?

Options :
1. ¥ Before World War I
2. % Before World War I1



3. % After World War [
4. % After World War II
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According to which theory, modern societies are more productive, children are better educated, and the needy receive more welfare?
Options :

1. # The Globalisation Theory

2. % The Westernisation Theory

3. ¥ The Modernisation Theory

4. % The Objective Theory
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By the 1970s, many Southern countries argued for the need for reform of the international economy through a campaign, to control international
markets in commodities and raw materials to deliver greater benefits for developing countries. These economic conditions are considered
under

Options :

1. ¥ A New International Economic Order
2. ® A National Economic Order

3. # A World Economic Order

4. % A State Economic Order
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